Ancient Indian History & Archeology(M.Phil. & Ph.D)
1. Yuktikalpataru was composed by

A) Bhoj Parmara B) Mihir Bhoja

C) Ananda Bhoja D) None of these
2. Sarvarajochheta is a title used by

A) Chandergupta II B) Samudragupta

C) Srigupta D) None of these
3. Which inscription discloses the existence of king named Vainyagupta

A) Gunaighar Plates B) Aihole Inscription

C) Sindham Plates D) None of these
4. Mitaksara is a commentary written on the law book of Yajanavalkya by

A) Radhaka B) Vijnanesvara C) Devala D) Sampurana
5. The Kuvalayamala is a text of

A) Jains B) Buddhists C) Brahmanas D) None of these
6. Who is the author of work Early Medieval Indian Society: A Study in Feudalization

A) Ram Sharan Sharma B) Raja Sharan Sharma

C) Rai Sharan Sharma D) None of these
7. Prakash is located in

A) Ganga valley B) Tapi valley C) Bhim valley D) None of the
8. Kunjhun site is located in

A) Uttar Pradesh B) Madhya Pradesh

C) Himachal Pradesh D) Haryana
9. Taradih is situated in

A) Maharashtra B) Bihar C) Tamil Nadu D) None of these
10. H. D Sankalia was motivated to pursue career in Archaeology by

A) L. A. Cammiade B) A. Carllyle

C) Henry Heroes D) None of these

11. The mouldings depicting human activities on the basal storey of temple are
A) Vitana B) Narathara C) Kudu D) Sanatan

12. Kandariya Mahadeva temple was built by
A) Vidhyadhara B) Yasovarman
C) Dhangaghosha D) Vinayapala
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Maniya devi was tutelary deity of
A) Chahmanas
C) Chandellas

The Bhagadugha is
A) Keeper of dice
C) One who apportioned shares

Silappadhikaram was authored by
A) Rano Adhikal
C) Rahul Adhi

B) Gurjara Pratiharas
D) Guptas

B) Manager of stables
D) One who manages army

B) Ilango Adhikal
D) None of these

Brahmarishidesa corresponds to present was composed by

A) Haryana B) Himachal
Kaparadaka are

A) Seals B) Sculptures
Pirak is located in

A) Northern Baluchistan

C) Kashmir

The early Indian text on Music is
A) Natyashastra B) Samaveda

The Palacography of India is written by
A) K. A. Ojha
C) Garima Ojha

The term bhumicchidranyaya refers to
A) Process of transplantation

C) Gujarat D) Karnataka

C) Cowery shells D) None of these

B) Southern Baluchistan
D) Afghanistan

C) Grihasutras D) None of these

B) Gaurishankara Ojha
D) None of these

B) Bringing virgin land under cultivation

C) The process of winnowing
D) None of these

Hemchandra is an author of
A) Vaijayanti
C) Karpuramanjari

The capital of Matsya janapada was
A) Mathura B) Pava

B) Abhidhamachintamani
D) None of these

C) Vairat D) Kampilya

The Mahabharata consists of how many Parvas

A) 12 B) 16

O 17 D) 18
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The rules regarding Patimokkha are enshrined in

A) Jatakas B) Vinay Pitaka C) Dipavamsa D) Abhidhamma Pitaka

Who held Chandragupta Maurya as a grandson of Peacock —tamers
A) Hemchandra B) Harisena C) Vishakhadatta D) Somdeva

Who suggested the division of Palaeolithic age into lower, middle and upper on the basis

of changes in fauna

A) Edward Cook B) Edouard Lartet

C) Edouard Thames D) Edward Thompson
The Sutta Pitaka consists of how many Nikayas

A) 8 B)6 o5 D)3
The Lingaraja temple is a typical example of

A) Triratha and Trianga B) Pancharatha and Panchanga

C) Saptaratha D) None of these
Nanadesi was a

A) Commercial body B) Group of slaves

C) Cultural body D) Both (B) and (C)
Pentha was a

A) An ornament B) A religious sect

C) A commercial centre D) A Fruit

Kile Ghul Mohammad was excavated by
A) W.A. Fairservis B) R.P. Mathur
C) M. Burkitt D) None of these

The Pithecanthropus had a cranial capacity of
A) 800cc B) 1000cc C) 750cc D) 1300cc

The ninth mandala of Rigveda was dedicated to
A) Craftsmen B) Soma C) Magic D) None of these

The Panchajana of Rigveda are
A) Yadu, Kuru, Puru, Turvasa, Anu
B) Yadu, Kuru, Druhyu, Turvasa, Anu
C) Yadu, Puru Turvasa, Anu, Druhyu
D) None of the above

Who was Mahishi
A) A Priest B) A prosperous person
C) A chief queen D) A divine creator



37. Oxydraki are identified with

A) Sibois B) Kshudrakas C) Agras D) Abhiras
38. Who was Vatsaraja

A) A Gurjara —Pratihara king B) A Pala king

C) An architect of Konark temple D) None of these

39. A Putbhedana is a

A) A trade centre B) A craft guild
C) A city dweller D) An archer
40. Who was Akaradhyaksha
A) Director of mines B) Director of salt making
C) Director of foreign office D) Director of brewers

41. Didarganj yakshi was found from

A) Mathura B) Patna C) Bengal D) Orissa
42. Who are called Sungabhrityas
A) Nandas B) Maghas C) Kanavas D) Pahalavs
43. Vakradeva was a successor of
A) Kharavela B) Bhadramagha C) Nagasena D) None of these
44. Who was the founder of Kanava dynasty
A) Vasumitra B) Vasudeva C) Vaimla D) Vachitra
45. Who assumed the title Sarvalogisvara
A) Kujula Kadphises B) Vima Kadphises
C) Both (A) and (B) D) None of these

46. Name the capital of Satavahana rulers
A) Nasik B) Pratishthana C) Kaundinyapur D) Kampilya

47. Who was Balasiri
A) Mother of Gautamiputra Satakarni
B) Grandmother of Gautamiputra Satakarni
C) Mother of Vasisthiputra
D) None of these

48. Angadis were
A) Markets B) Stupas C) Temple rituals D) Herdsmen

49. Who composed Ashtangahridya
A) Chakrapanidatta B) Vagbhatta
C) Krishana D) Bhuvandeva



50. Who was Ravikirti
A) Composer of Aihole Inscription
B) Builder of a Meguti temple
C) Father of Mangalesha
D) Both (A) and (B)

X-X-X
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Defence Studies(Ph.D. & M.Phil.)
Who authored the famous military work titled, “Principes Generaux de la Guerre?”
A) Jomini B) Clausewitz C) Guibert D) None of these

Who coined the term ‘Geopolitics’?

A) Karl Haushofer  B) Friedrich Ratzel C) Rudolf Kjellén D) Mackinder
‘Oisivetes’ are related to which of the following thinkers?

A) Jomini B) Jean Errard C) Count de Pagan D) None of these

As per the nuclear theorist P. K. Huth, key factors for consideration under rational
deterrence theory are:

1. the military balance;

il. signaling and bargaining power;

1il. reputations for resolve;

iv. interests at stake

A) i. and ii. only B)i.,ii.andiv.only C)i. andiv. only D) i., ii., iii., and iv.

Match the following Strategic Thinkers in List — I given below with their respective
domain of doctrines in List — II with the help of code given below:

List—1 List —II
(Strategic Thinkers) (Doctrines)
(a) Sir Julian Corbett (1) Nuclear Deterrence
(b) Nichols Spykman (i1) Air power
(¢c) Herman Kahn (iii) Sea power
(d) Mitchell (iv) Geopolitics
Code :
@ b (© (@ @ b (© (@
A) @) @ (v) (i) B) ()  Gv) (@ (i1)
¢ vy @) @) @ D) @® @) @) (@v)
Who is author of the book titled, “On Escalation: Metaphors and Scenarios”?
A) Paul K. Davis B) Peter J.E. Stan
C) William W. Kaufmann D) Herman Kahn
The book “India’s Wars: A Military History (1947-1971)” has been authored by whom?
A) Shiv Kunal Verma B) T M P Mahadevan
C) Arjun Subramaniam D) Srinath Raghavan
The book “India vs Pakistan : Why Can’t we just be friend”” has been penned by whom?
A) Arjun Subramaniam B) Husain Haqqani
C) Ayesha Siddiga D) Kishlay Bhattacharjee

Who is the author of the book “The Other Side of Silence: Voices from the Partition of
India”?

A) Khushwant Singh B) Yasmin Khan
C) Sathya Sothanai D) Urvashi Butalia
Which of the following are the magazines published by ISIS

i)  Rumiyah ii) Dabiq 1ii) Daesh

Select the correct answer using the codes given below:
A) 1) only B) ii) only C) 1) and ii) only D) All of them
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Which river in Afghanistan joins the Indus in Pakistan?

A) Amu B) Hilmand C) Harirud D) Kabul

India has Kalapani and Susta territorial dispute with

A) Bangladesh B) Bhutan C) Nepal D) Myanmar

The Kaladan transport project by India and Myanmar consists of which of the following

modes of transport?

1) Roads

ii) Railways

1i1) Shipping

iv) Inland water transport

Select the correct answer using the codes given below.

A) 1), ii) and iii) only B) 1), iii) and iv) only
C) ii), iii) and iv) only D) 1), ii), iii) and iv)
Which of the following is the first step in starting the research process?

A) Searching sources of information to locate problem
B) Survey of related literature

C) Identification of problem

D) Searching for solutions to the problem

Scientific method is committed to ...................

A) Objectivity B) Ethics C) Proposition D) Neutrality

Theory is “ a set of systematically related propositions specifying casual relationship
among variables” is defined by

A) Black James and Champion B) P.V. Young

C) Emory D) Gibbes

“Foundations of Behavioral Research” is written by

A) P.V. Young B) Fred Nichols Kerlinger

C) Emory D) Clover Verno

Constructivists argue that...

A) Scientific enquiry can uncover absolute truths

B) Material forces are much more important than ideas

C) Individuals are powerless to shape the world as they find it
D) The 'truth' is always socially constructed

Which of the following agreements has been signed by India with USA?
i)  COMCASA ii) GSOMIA iii) LEMoA iv) BECA
Select the correct answer using the codes given below
A) i. and iii only B) i., ii. and iii. only
C) i, 1i. and iv. only D) i.,ii., iii., and iv.
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Where are the headquarters of International Seabed Authority (ISA)?
A) Kingston B) Berlin C) Paris D) New York

Which country has agreed to setup a National Crisis Management Centre for India to
handle disaster and other emergency situations?
A) United States B) China C) Russia D) Japan

The ‘natural law’ perspective on international law is most associated with which IR
theory?

A) Realism B) Liberalism C) Marxism D) Critical Theory
The first India-Myanmar Bilateral Military Exercise 2017 (IMBAX 2017) was held in
which NE state?

A) Nagaland B) Mizoram C) Assam D) Meghalaya

With reference to ‘BIMSTEC’, consider the following:

1) It is a regional organization comprising seven Member States lying in the littoral
and adjacent areas of the Bay of Bengal constituting a contiguous regional unity.
i) It constitutes seven Member States: five deriving from South Asia, including
Bangladesh, Bhutan, India, Nepal, Sri Lanka, and two from Southeast Asia,
including Myanmar and Indonesia.
iii)  Recently its 4th summit was held in Nepal.
Which of the above statements is/are correct?

A)i. only B) i and iii only C)iandii. only D) All of these
Exercise Pitch Black 2018 was hosted by

A) South Africa B) Australia C) USA D) Israel

According to Kenneth Waltz’s ‘more may be better’ argument which of the following is a

true statement?

A) A large nuclear arsenal is necessary for a state to dominate its region and ensure that
no other state dares attack it

B) The only way for a state to maintain its security is for it to seek an alliance with a
larger and more powerful state

C) A small nuclear arsenal with an appropriate command and control doctrine is
sufficient for nuclear deterrence to operate successfully

D) None of these

The ‘SAMADHAN?’ doctrine is related to which one of the following problems :
A) To tackle the problem of arms smuggling
B) To tackle the problem of Naxalism
C) To tackle the problem of drugs and narcotics
D) To tackle the problem of Cross-border terrorism
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Which one of the following brokered the Indus Water Commission between India and
Pakistan?

A) Britain B) World Bank

C) USA D) United Nations

The ‘Friendship Highway’ is located between

A) Pakistan and China B) India and Bangladesh

C) India and Nepal D) Tibet and Nepal
‘Nine —Dash Line’ relates to which one of the following:

A) Demarcation of China’s Claim in East China Sea
B) Partition of the Korean Peninsula

C) Demarcation of China’s Claim in South China Sea
D) Demarcation of Japanese Claim in East China Sea

On which river was the Salal Dam Agreement signed between India and Pakistan?
A) Chenab B) Indus C) Jhelum D) Sutlej

Who has propounded the Decision Making Theory?
A) Mortan Kaplan B) Hans J. Margenthau
C) Barry Buzan D) John Burton

Identify the correct sequence of N.S.A. in India in a chronological order

A) Brijesh Mishra, M.K. Narayanan, J.N. Dixit, Shiv Shankar Menon, Ajit Doval
B) Brijesh Mishra, J.N. Dixit, M.K. Narayanan, Shiv Shankar Menon, Ajit Doval
C) Shiv Shankar Menon, M.K. Narayanan, Brijesh Mishra, J.N. Dixit, Ajit Doval
D) J.N. Dicxit, Brijesh Mishra, M.K. Narayanan, Shiv Shankar Menon, Ajit Doval

Who among the following was the mastermind of the massacre at the Holy Artisan
Bakery in July, 2016 in Dhaka?

A) Sheikh Aslam Chowdhury B) Syed Jamal Ali Rehman

C) Tamin Chowdhury D) None of these

‘Geronimo’ was the code name given to which of the following individual by US
administration?

A) Col Gaddafi B) Saddam Hussain

C) Mustafa Abu al-Yazid D) None of these

The Headquarters of the International Atomic Energy Agency is located in which one of
the following cities:

A) Vienna B) Paris C) Washington D) Geneva

Which one of the following institutions is known as ‘Soft loan window’ of the World
Bank:

A) Indian Development Forum B) International Monetary Fund

C) International Finance Corporation D) International Development Association
The term ‘Fat Boy in Space’ refers to which one of the following?

A) Mangalayan B) GSLV Mark - IIT

C) Cartostat D) IRNSS



39. Who amongst the following authorities argued that “Nuclear weapons provide the glue
that has held the Western alliance together”?
A) Henry Kissinger B) James Schlesinger
C) Bill Clinton D) George P. Shultz

40. The Bill HR 6069 introduced in the US Congress in September 2016 is related to which
one of the following?
A) It aims at designating Pakistan a state sponsor of terrorism
B) It aims at checking illegal flow of drug money to terrorist organisations based in Pakistan
C) It aims at eliminating terrorism in the region of South Asia
D) It aims at uniting cooperation in both Afghanistan and Pakistan to eliminate terrorist

groups operating in the region

41. Who among the following thinkers emphasized that “Science is the great antidote to the
poison of enthusiasm and superstition”?
A) A. Hamilton B) Karl Marx C) Adam Smith D) Karl Haushofer

42. Identify the correct code for the Assertion (A) and Reason (R) as given below:
Assertion (A) : The Indian Air strikes on terrorist camps at Balakot in Pakistan was an
action taken in response to Pulwama terrorist attack on CRPF Convoy.
Reason (R): The Indian response under compulsion exhibited the strong political will to
act against terrorism.
Codes :
A) (A) is correct but (R) is not correct B) Both (A) and (R) are correct
C) (A) is not correct, but (R) is correct D) Both (A) and (R) are not correct

43. The Garland Highway in Afghanistan connects which four cities?
A) Herat, Kandhar, Kabul, Mazar-e-Sharif B) Kunduz, Bamiyan, Nimroz, Jalalabad
C) Ghazni, Badakhshan, Khost, Baghlan D) Herat, Bamiyan, Ghazni, Kabul

44. The Younghusband expedition to Tibet to establish diplomatic relations and resolve the
dispute over the border between Tibet and Sikkim occurred in which of the following

years?
A) 1903-04 B) 1904-05 C) 1902-03 D) 1903-05
45. Nine Degree Channel separates .................
A) Car Nicobar and Great Nicobar B) Lakshdweep and Minicoy
C) Little Andaman and Car Nicobar D) North Andaman and South Andaman

46. Tibetan Uprising Day commemorates the 1959 Tibetan uprising against the presence of
the People's Republic of Chinain Tibet. It is observed every year on which of the
following day?

A) 10 February B) 23 February C) 10 March D) 23 March

47.On 15 June 1988, Dalai Lama addressed the members of European Parliament. It is also
called as
A) Strasburg Proposal B) Tibetan Proposal
C) Five point peace plan D) Tibetan Agreement



48. Dharma Guardian is the first joint military exercise held between India and which of the
following country?
A) Australia B) United States of America
C) Japan D) UK

49. The Japan- India Association was setup in which year?
A) 1903 B) 1904 C) 1905 D) 1906

50. The fifth India-Japan 242 Vice-Ministerial level dialogue was held on June 19, 2018 in
which city?
A) Kyoto B) Tokyo C) New Delhi D) Ahmedabad

X-X-X



(ECONOMICS)

The equilibrium is unstable and indeterminate under:
(A) Edgeworth’s Duopoly Model (B) Chamberlin’s Oligopoly Model
(C)  Bertrand’s Model (D)  Pareto Model

Social welfare function was introduced by:
(A)  James Tobin (B) K. Arrow
©) Lerner (D) Bergson

Who is the chairman of 15" Finance Commission:

(A) C.Rangarajan (B) N.K.Singh
(C)  Dr. Vijay L. Kelkar (D)  Anoop Singh
The short run Phillips Curve holds constant:
(A) Wages (B) Taxes
© Income (D) Inflationary expectations

The value of o for Cobb-Douglas Production Function is:

(A) oo B O

<o 1 o) -1
When e< 1,then MR is:

(A) Negative (B) Zero

©) Positive (D) One

Laffer Curve measures:
(A)  Total tax burden and total payment burden
(B) Total income and total expenditure
© Relation between tax rate and tax revenue
(D) Aggregate tax and aggregate non-tax revenue

RBI revision of Repo/Reverse Repo Rate by 10 basis points implies which among the
following fractions:
(A)  10% (B) 1% (C)  100% (D) 0.1%

The practice of charging each consumer the reservation price is called:
(A) Peak Load Pricing
(B) Third Degree Price Discrimination
(@) First Degree Price Discrimination
(D) Inter-temporal Price Discrimination
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Multiple coefficient of determination measures the:

(A)
(B)
©
(D)

Goodness of fit of multiple regression model
Heteroscedasticity of multiple regression model
Homoscedasticity of multiple regression model
Multicollinearity of multiple regression model

Modern economic growth has been analyzed by:

(A)
©)

Maurice Alias (B) W. Leontief

Richard Stone (D)  Simon Kuznets

GNP at factor cost is equal to:

(A)
(B)
©
(D)

GNP at factor price — Net Direct Taxes
GNP at factor cost + Net Direct Taxes
GNP at market prices — Net Indirect Taxes
GNP at market prices + Net Indirect Taxes

The 2017 Nobel Prize for Economics was awarded to Richard Thaler:

(A)
(B)
©
(D)

For his analysis of consumption, poverty and welfare

For his analysis of trade patterns and location of economic activity
For integrating climate change into long-run macroeconomic analysis
For his contributions to behavioural economics

Keynes Liquidity Preference Theory indicates that the demand for money is:

(A)
(B)
©
(D)

Negatively related to bond price

Constant

Positively related to interest rates
Negatively related to interest rates

If a bank wants to borrow money from RBI which rate of interest is applicable:

(A)
(B)
©
(D)

Repo Rate

Reverse Repo Rate

Base Rate

Differential rate of interest

Devaluation of currency can correct a Balance of Payment deficit because

(A)
(B)

©
(D)

It raises price of exports and imports in foreign currency

It lowers price of exports in foreign currency and raises price of imports in
home currency

It lowers price of exports and imports in home currency

It raises price of exports in foreign currency and lowers price of imports in
home currency
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The Government had launched the UDYAMI helpline for which among the following?

(A) Female Entrepreneur
(B) Large Capital Industries
© Micro, Small and Medium Enterprises
D) Farmers introducing technology in farming
What will be the quartile deviation when Q;=14.6 and Q3= 25.2
(A) 5.4
(B) 5.2
©) 5.3
(D) 5.6
Rejecting null hypothesis, when it is true results in which type of error?
(A)  Typelerror (B) Type Il error
© Two tailed error (D)  One tailed error
Financial dualism theory was developed by:
(A) H. Myint (B) M. Porter
© A.M. Khan (D)  Solow
Which type of dispersion is used in sampling theory:
(A) Range (B) Mean Deviation
(C)  Standard Deviation (D)  None of the above
The mean and variance of a Binomial Distribution is:
(A, /npq (B)  VnZp,n?p2q?
(©)  npq,n’p? (D) np,npq
Foreign trade multiplier is given by:
AY 1 AY 1 AY 1 AY 1
W ZT o=~ om Ox-om © 5=
Core inflation is a measure of inflation :
(A)  Thatis based only of food and energy prices
B) That includes items that face volatile price movements notably food and
energy
© That excludes items that face volatile price movements notably food and
energy
D) None of the above

The ‘ Year of Great Divide’ refers to:

(A)
(B)
©
(D)

Rapid growth rate in population after 1921
The declining sex ratio after 1921

The slowdown in birth rate after 1921

All of the above
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Which of the following is known as Soft Loan Window of the World Bank?

(A) DA (B) IFC (C) IBRD (D)  MIGA
‘Reserve Army of Labor’ term was used by who among the following economists:
(A)  A.Schumpeter (B) J.R. Hicks
(C)  T.R. Malthus (D)  Karl Marx
The Product Life Cycle Theory was developed by:
(A) Adam Smith (B) David Ricardo
(C)  Raymond Vernon (D)  Eli Heckscher

Which of the following is a measure of market concentration and monopoly power in a
particular industry:

(A) Herfindahl Index (B) Fisher Index

© Chamberlin Index (D)  Robinson Index

By which year the Central Government has planned to double the income of the
farmers?
(A) 2020 (B) 2022 (C) 2023 (D) 2024

The regression coefficient is independent of:
(A) Change of origin and scale
B) Change of origin only
© Change of scale only
D) Neither change of origin nor change of scale

Net Profit is equal to total revenue minus:
(A) Explicit costs (B) Implicit costs
(C)  Wages and rents (D)  Implicit and Explicit costs

What does hedging means?
(A)  The acceptance of a foreign exchange risk
B) The covering of a foreign exchange risk
©) Foreign exchange speculation
(D) Foreign exchange arbitrage

Statistic is a numerical quantity which is calculated from:

(A) Population (B) Sample (C) Universe (D) Hypothesis
Human Development Index was formulated by:

(A) World Bank (B) International Monetary Fund

(C) UNCTAD (D) UNDP

What was the unemployment rate in India for the year 2017-2018 as per the survey
conducted by National Sample Survey Office (NSSO)?
(A)  6.1% (B) 6.2% (C) 6.3% (D) 6.4%
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Reliability of a point estimation is measured by its
(A) Standard deviation (B) Standard normal curve
© Standard error (D)  Coefficient of determination

Money Laundering means:
(A) Money acquired from undisclosed sources
(B) Money acquired from criminal sources
© Hiding of income source mainly to avoid Income Tax
(D) Process of conversion of money obtained illegally to appear to have originated
from legitimate sources

What is ‘Open Market Operations’?
(A)  Activities of SEBI registered brokers
(B) Selling of currency by the RBI
© Selling of gilt-edged securities by the Central Bank
(D) Sale of shares by Flls

The number of outcome of rolling three dice is:
(A) 216 (B) 36 Q) 6 (D) 72

The mean of 11 numbers is 7, one of the numbers, 13, is deleted. What is the mean of
remaining numbers?
A 7.7 (B) 6.4 (C) 6.0 (D) 5.8

In Hick’s neutral technical progress , the technical progress is:
(A) Capital augmenting
B) Labor augmenting
© Both labor and capital augmenting
D) Change in the efficiency and productivity of labor

Which state became the first state of India to ratify GST bill?

(A) Bihar (B) Assam
© Andhra Pradesh (D)  Arunachal Pradesh
Which among the following has not been declared as a special category state in India?
(A) Uttrakhand (B) Bihar
(C)  Jammu and Kashmir (D)  Himachal Pradesh

What is e-NAM?
(A) Pan —India online trading platform for agricultural commodities
B) An initiative to boost industrial growth
© A component of Bharat Nirman Programme
(D) A component of Make in India



46. In Myrdal’s model of economic development two effects which are mentioned are”
(A) Backwash effects and spread effects
B) Roundabout effects and direct effects
© Spread effects and interlinkage effects
D) Backwash effects and direct effects

47. Income TOT is:

Py Py
(A) ﬁ-Qx (B) P_x-Qx
Py 1

48. When we reject the null hypothesis then our finding is said to be:
(A) 95% probability finding
B) 5% confidence finding
© Not statistically significant
D) Statistically significant

49, Match the following from List-I and List-II:

List -1 List —II

(1) Durbin-Watson‘d’ statistics 1. Stationarity

(i) R? 2. Qualitative Effects

(ii1) Augmented Dickey-Fuller Test 3. Serial Correlation

(iv) Dummy Variable 4. Goodness of fit of regression equation
Codes:

i ii iii iv
(A) 1 2 4 3
(B) 2 1 3 4
< 4 3 2 1
(D) 3 4 1 2
50. Intermediate goods are not included to calculate the final output because:

(A)  Theydo not have value

(B) Their value is included in final goods so they are not added to avoid the
problem of double counting

©) They have unknown value

(D) None of the above

X-X-X
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Gandhian Studies

Gandhi founded his first ashram in South Africa in the year:
A) 1904 B) 1906 C) 1910 D) 1914

By Which name is Gandhi ji’s ancestral home known today?
A) Birla House B) Gandhi Nagar C) Bankanair’s House D) Kirti Mandir

In which year Gandhi ji passed his matriculation examination in India?
A) 1885 B) 1887 C) 1888 D) 1889

Where did Mahatma Gandhi start his struggle against apartheid?
A) Natal B) Cape Colony C) Orange Free State D) Transvaal

Bardoli Satyagraha occurred in:
A) 1922 B) 1928 C) 1930 D) 1936

In how many parts Mahatma Gandhi’s Autobiography is divided?
A) 6 B)7 o5 D) 4

Demand for Pakistan was raised by Mohammed Ali Jinnah in the year:
A) 1938 B) 1939 C) 1940 D) 1942

Gandhi ji accorded very high priority to communal harmony in his programme of
actions. At which place did he undertake his last fast for it on January 13, 1948?
A) Nasik B) Delhi C) Navkohli D) Bombay

Who called the dropping of Civil Disobedience Movement by Gandhi ji as a
‘National Calamity’?

A) Jawaharlal Nehru B) M. N. Roy

C) Subhas Chandra Bose D) C. R. Das

Gandhi ji’s statement “the surplus money should be used for the welfare of the have —
nots”, highlights:

A) Theory of the “greatest good of the greatest number”

B) Theory of “Wantlessness”

C) Theory of “Ends and Means”

D) Theory of “Trusteeship”

To refer an International Conflict to third party is called:-

A) Retaliation  B) Arbitration C) Mediation D) Meditation

According to Gandhi the following is correct:
A) Religion without Politics is a sin

B) Politics bereft of religion is a dirt

C) Spiritualization of politics is impossible
D) Ethics and Economics are separate entities
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Identify the correct combination:
i) Gandhi believed in Caste System
i1) Gandhi did not believe in Caste System
1ii) Gandhi believed in Varnashram Dharma
1v) Gandhi did not believe in Varnashram Dharma
A) (1) & (ii) B) (i) & (iii) O) (ii) & (iii) D) (i) & (iv)

Who described Gandhi’s long march to Dandi by foot in the following words:
“Like the historic march of Ramachandra to Lanka, the march of Gandhi will be
memorable.”?

A) Motilal Nehru B) Sarojini Naidu

C) Vallabhbhai Patel D) Madan Mohan Malavia

Who was the first recipient of Gandhi Peace Prize?
A) Mother Teresa B) Indira Gandhi C) Julius Nyerere D) Rajiv Gandhi

Identitfy the incorrect match:

A) Sunderlal Bahuguna - Chipko Movement
B) Hochi Minh - Gandhi of Vietnam
C) Daisaku Ikeda - Japanese Gandhi
D) Martin Luther King(Jr.) - African Gandhi

What was the name of the Educational Inspector who visited the High School
where Gandhi ji was studying and gave spelling exercise of five words?
A) Mr. Kettle B) Mr. Giles C) Mr. Richard D) Mr. Polak

Name the Gandhi’s House in Johannesburg, where he lived for 3 years?
A) The Croll B) The Cape Colony C) Smuts Palace D) Prisoners Den

Where did Gandhiji address his first speech in South Africa?

A) Cape Town  B) Transvaal C) Pretoria D) Orange Free State

Gandhi ji writes ‘Sir Pherozeshah had seemed to me like the Himalayas’. To what did

he compare Lokmanya Bal Gangadhar Tilak?
A) Ocean B) Ganga C) River D) Drop of Water

What is the subject which was new to Mahatma Gandhi and which he found more

difficult because of English Medium?
A) Geometry B) French C) Sanskrit D) Latin

Gandhi participated first in the Boer War or in Zulu Rebellion?
A) Zulu Rebellion

B) Boer War

C) Both Together

D) Never participated in any of the two
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Gandhi ji began a twenty-one day fast on February 10, 1943 in jail which provided a

burst of political activity. This fast was undertaken by him to:

A) Condemn violence of people in the Quit India Movement

B) Prove his innocence before God for violence during the Quit India Movement

C) Register his protest against the violence of state, including the unwarranted
detention of thousands of Congressmen

D) Both: (B) and (C)

Which of the following constitutes the primary difference between Western and
Gandhian Socialism?

A) Material progress with violence

B) Equality irrespective of the material wealth

C) State ownership of all means of production without violence

D) First control of the State to be followed by enforcement of equality by law

Though at the Round Table Conference in London Gandhi ji could gain nothing, he
was the richer for having secured many friends and the goodwill of the people. Who
of the following eminent persons refused to meet him?

A) Winston Churchill B) Lloyd George

C) Gilbert Murrye D) Lady Astor

After how many days of strike was the settlement reached between Ahmedabad
textile mill-owners and workers?

A) Twenty-five B) Twenty-one C) Fifteen D) Twelve
Society based on Justice, equality and liberty is also known as:
A) Positive Peace B) Provision of Human Rights

C) Absence of Communal Violence D) Absence of War

Where was Gandhi kept as a prisoner during the Salt Satyagraha?
A) Ahmedabad Jail B) Yervada Jail
C) Aga Khan Palace D) Sabarmati Jail

Out of the following, who is from the Peace Researchers’ group?
A) Hedley Bull B) Barrack Obama  C) John Galtung D) Richard B. Gregg

In which year the ‘Universal Declaration of Human Rights’ was adopted by the
General Assembly?

A) 1945 B) 1946 C) 1947 D) 1948

Who referred Gandhi ji as ‘One Man Peace Army’ during the partition period?
A) Lord Mountbatten B) Lord Wavell

C) Lord Wellington D) Ramsay McDonald

In which year ‘Rio Earth Summit’ related to environment was held?
A) 1972 B) 1973 C) 1992 D) 1993
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In which year did apartheid officially end?

A) 1964 B) 1974 C) 1984 D) 1994

Which among the following marks Mahatma Gandhi’s first fast unto death?

A) Kheda Satyagraha B) Champaran Satyagraha

C) Ahmedabad Mill Stike D) Jallianwala Bagh Tragedy
Gandhian concept of decentralization is based on:

A) Pyramid B) Oceanic C) Square D) None of these
Before his assassination, which document had Gandhi signed?

A) Directive Principles B) Panchyat Raj Institutions

C) Prohibition of intoxicants D) Uniform Civil Code for Citizens

Constitution Part IV (Article 36-51) contains the Directive Principles of State Policy.
In the following options bring out those which include the scope of Gandhian

principles?
A) Articles 40, 43, 44 B) Articles 40, 47, 48
C) Articles 50, 50 D) Articles 40, 44, 50

Gandhi ji made a distinction between ‘“Passive Resistance” and “Nonviolence”. What

was the distinction?

A) Passive resistance is the resistance offered by the weak because they are unable to
offer armed resistance, whereas nonviolence is the resistance offered by the strong
because they are unwilling to offer armed resistance

B) Passive resistance is the resistance offered by the satyagrahis in the form of fasts
and vows of silence, whereas nonviolence stands for not raising armed resistance
in the fact of state violence

C) Passive resistance means strikes and closing down of work establishment,
whereas nonviolence means demonstrations and other allied activities where work
is not stopped

D) All of the above

Having divested himself of the responsibility of leadership of the Congress, Gandhi ji
gave full attention to the revitalization of rural India and the organization of the All-
India Village Industries Association. Which of the following became the headquarters
of training and research in village industries?

A) Sevagram B) Maganwadi C) Sabarmati D) Faizpur

Gandhi called himself:
A) An Atheist B) A Arya Smajist C) A Sanatani Hindu D) None of these

Identify the correct combination:
i) Gandhi believed in Caste System
i1) Gandhi did not believe in Caste System
1ii) Gandhi believed in Varnashram Dharma
1v) Gandhi did not believe in Varnashram Dharma
A) (1) & (ii) B) (i) & (iii) O) (ii) & (iii) D) (i) & (iv)
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A) To test the Self-Control of the inmates

B) To train the Satyagrahis to retaliate

C) To exercise Self-Control upon Ashram Women
D) To acquire self-discipline and moral perfection

. What moved Abanindranath Tagore to paint the famous image of Bharat Mata?

A) Civil Disobedience Movement B) Swadeshi Movement

C) Quit India Movement D) All of these

Boycott of British Goods is related to which of the following movements?
A) Swadeshi Movement B) Quit India Movement

C) Non Cooperative Movement D) Home Rule Movement

Who prepared the Trusteeship formula for Gandhi to consider?
A) Mahadev Desai and Pyarelal

B) J. B. Kripalani and Jayaprakash Narayan

C) Subhash Chander Bose and Jawaharlal Nehru

D) K. G. Mashruwala and N. D. Parikh

Quit India Movement is also called as?

A) Khilafat Movement B) Swadeshi Movement

C) Homerule Movement D) August Kranti Movement
What led to the Civil Disobedience Movement?

A) Arrival of the Simon Commission

B) Working at the firm without payments

C) Violation of Salt Tax by Gandhi

D) Fall in demand for agricultural goods

What was the effect of the Non-cooperation movement on the plantation
workers in Assam?

A) They left the plantations and headed home

B) They went on strike

C) They destroyed the plantations

D) None of the above

When Gandbhi ji was arrested during the Civil Disobedience Movement and tried
in court, who expressed the wish that if the Government releases Gandhi ji, he
would be the happiest person?

A) Gen. Smuts B) Judge Broom Fields

C) Motilal Nehru D) S. Radhakrishnan

The prefix 'Mahatma' was added with the name of Gandhi:

A) During Champaran Satyagraha

B) During the Satyagraha against Rowlatt Act
C) In the Amritsar session of the Indian National Congress 1919
D) At the beginning of Khilafat Movement

X-X-X
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(HISTORY)
was a gathering at which the booty acquired in a raid was distributed during the
early vedic period.

A) Dana B) Vidatha C) Damaras D) Hadda

The Ainnurruvar (five hundred swamis of Aihole) were the most celebrated south Indian:
A) Weavers B) Religious priests C) Ship builders D) Merchant guilds
The Jatakas tell us about akasiya and tundiyas:

A) Who were ship builders B) Who were weavers

C) Who were foot soldiers D) Who were oppressive tax collectors

The most important leader of the Ajivika sect was:

A) Tapassu B) Bhallika C) Ambattha D) Makkhali Gosala
were an important Rajput ruling house of Junagadh.

A) Cudasamas B) Vaghelas C) Jadejas D) Rashtrakutas

The refers to a water-based share (Udakabhaga) of produce as tax ranging from one

fifth to one third of the crop.

A) Arthasastra B) Indika C) Dipvamsa D) Girnar inscription

The striking ‘Yakshi’ from Didarganj belongs to the ___ .
A) Gupta period B) Nanda period C) Mauryan period D) Vardhan period

Maues is the first ___ king whose coins are found mainly in Punjab.
A) Pala B) Sena C) Saka D) Parthian

The capital of Kosala was:
A) Shrvasti B) Gonda C) Champa D) Vaishali

The Sabha and Samiti are described as twin daughters of:
A) Lord Vishnu B) Lord Shiva C) Goddess Durga D) Lord Prajapati

The White Yajurveda contains a special prayer Shatarudriya, addressed to:
A) Lord Vishnu B) Lord Shiva C) Lord Durga D) Lord Krishna

was the famous king of Girnar in the 12 century AD.
A) Ra Khengar B) Pulakesin 11 C) Rudradaman D) Mahendravarman

13. Svapnavasavadatta, was a drama composed by:

14.

A) Bhasa B) Kalidasa C) Patanjali D) Harisena

was a kind of cloth woven with gold thread and silk yarn in medieval India.
A) Zardozi B) Phulkari C) Tsar D) Zarbaft
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There is a remarkable collection of Sanskrit documents titled Lekhapaddhati from

Gujarat ranging in time from:

A) 12 to 16 century A.D. B) 9 to 13 century A.D.

C) 4to7 century A.D. D) 14 to 18 century A.D.

____were territories reserved for the King’s treasury.

A) Kharaj B) Imlak C) Khalisa D) Khot
Nabud in Mughal period meant:

A) Land where crop had failed B) Land given as reward to warriors
C) Land exempted from land tax D) Land alienated for religious buildings
Qutb Minar was built early in the:

A) 11 century B) 12 century C) 13 century D) 14 century
The rearing of mulberry silkworm is reported from ___ only in the 15 century.

A) Bengal B) Avadh C) Punjab D) Kashmir
Bijak is the most revered collection of:

A) Dadu B) Kabir C) Raidas D) Dhanna
Virji Vohra and Abdul Gafur were well known merchants of:

A) Sopara B) Delhi C) Surat D) Ahmadabad
Zainul Abidin (1420-1470) was the famous sultan of:

A) Kashmir B) Bengal C) Avadh D) Bijapur

A dhadi is:

A) A musician who sings in praise of the Sikh gurus and recounts the heroic deeds of the

Sikhs
B) The keeper of the royal residence in the time of Maharaja Ranjit Singh
C) Literally, a horse rider
D) A person well-versed in the Sikh scriptures

Guru Arjan founded Kartarpur in the:
A) Chaj Doab B) Bari Doab C) Bist-Jalandhar Doab D) Rachna Doab

PEPSU is:
A) Punjab and East Punjab States Union ~ B) Patiala and East Punjab States Union
C) Punjab and East Princely States Union D) Punjab and North Punjab States Union

The tutor of Maharaja Ripudaman Singh of Nabha was the Sikh intellectual:
A) Gaini Ditt Singh B) Bhai Sohan Singh
C) Bhai Gurdit Singh D) Bhai Kahn Singh
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is an enclosed market cum residential quarters.

A) Kard B) Kardar C) Katra D) Marhi

Land entirely dependent on rain for cultivation is .

A) Barani B) Batai C) Faslana D) Garhi
Ghallughara, is used for two carnages in Sikh history, one in 1746 and the other in ___.
A) 1759 B) 1760 O) 1761 D) 1762

Rahiras is a composition of recited in the evening in a Gurdwara or at home.

A) Guru Gobind Singh B) Guru Arjan Dev

C) Guru Nanak Dev D) Guru Har Rai

The Alienation of Land Act of 1900:

A) Prevented cultivators from transferring their lands or mortgaging them for extended
periods to non-agriculturists

B) Prevented cultivators from transferring their lands or mortgaging them for extended
periods to other cultivators

C) Exempted cultivators from payment of land revenue

D) Forced the cultivators to pay double land revenue in case of delay

The Punjab Chiefs College at educated the sons of princes and men of high social
position.
A) Lahore B) Amritsar C) Lyallpur D) Simla

The Legislative Council was formed in 1897 in the Punjab consisting of only
members.

A) S B)6 09 D) 10

The Brahmo Samajist monthly, was launched in 1877 in the Punjab.

A) Panjabee B) Hari Hakikat C) Kohinoor D) Akbar-i-Am

The Namdhari movement in the Punjab was started by .

A) Hira Singh Dard B) Baba Dayal C) Baba Balak Singh D) Tej Singh

The Ministry of Bhim Sen Sachar is known for the formula generally called the
Sachar Formula.

A) Language B) Racial C) Reservation D) Caste

The won the largest number of seats in the elections of the Punjab Legislative
Council in 1926.

A) Indian National Congress B) Hindu Mahasabha

C) Shiromani Akali Dal D) Unionist Party

Maharaja Hari Singh of acceded to India in October 1947.

A) Junagarh B) Kashmir C) Baroda D) Nabha
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Prime Minister declared emergency in India on 26 June 1975.
A) Jai Prakash Narayan B) Morarji Desai
C) Indira Gandhi D) Jawaharlal Nehru

A non-Brahmin movement emerged in south India under the leadership of E.V.
Ramaswamy Naicker, ‘Periyar’ called:

A) Self-Respect Movement B) Justice Movement

C) Dravidian Movement D) Low-Caste Movement

The Lucknow-Pact (1916) was an important step in achieving:

A) Hindu-Sikh unity B) Hindu-Muslim unity
C) Muslim-Sikh unity D) Hindu-Christian unity

was appointed the Chairman of the Boundary Commission in June 1947.
A) Sir Stafford Cripps B) Sir Cyril Radcliffe
C) Sir Campbell Johnson D) None of these
A K. FazlulHuq was the leader of the in Bengal.
A) KrishakPraja Party B) Unionist Party
C) Kirti Kisan Party D) Naujawan Bharat Sabha

was chosen as the Direct Action Day during the agitation for Pakistan.

A) 16 August 1945 B) 16 August 1944
C) 16 September 1946 D) 16 August 1946
Subhas Chandra Bose resigned as President of the Indian National Congress in Calcutta in:
A) 1938 B) 1939 C) 1940 D) 1941
The author of The Idea of History is:
A) E.H. Carr B) R.G. Collingwood
C) John C.B. Webster D) Trevelyan

b

History is a ‘chapter of .
A) Accidents B) Incidents C) Events D) Happenings

Study of coins is known as:
A) Anthropology B) Archaeology C) Numismatics D) Architecture

Historians must examine primary sources critically to determine their ___ and reliability.
A) Genuineness B) Objectiveness C) Antiquity D) None of these
is the author of Discovery of India.
A) Motilal Nehru B) Mahatma Gandhi
C) Subhas Chandra Bose D) Jawaharlal Nehru

X-X-X
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Philosophy(Ph.D. & M.PAhil. )

Syadvdda is an epistemic theory of —

A) Nyaya B) Samkhya C) Jainism D) Buddhism

The Four Arya Satyas of Buddhism are—

A) Dukha, The cause of dukha, Ceassation of dukkha , The path to achieve the
dukkha

B) Ahimsa, Satya, Asteya, Aprigraha

C) Kama, Krodha, Lobha, Moha

D)Yama, Niyama, Dhydana, Samadhim

cessation of

Yama, Niyama, Asana, Pranayama, Pratyahay, Dharnd, Dhydana, Samadhi are  the eight fold

path of —
A) Yoga of Buddha B) Yoga of Patanjali
C) Jainism D) Tantra

Which one of the following is a great Mahayan Bhuddhist Philosopher?
A) Nagarjuna B) Gagesha Upddhyaya
C) Ishwar Krishna D) Ramanuja

Who is the founder of Vaisheshika school of philosophy ?

A) Jaimini B) Gautama C) Kanada D) Kautilya
Ramanuja’s interpretation of Vedanta philosophy is known as —

A) Dwait Vada B) Adwaita Vada

C) Visistadwaita Vada D) Suddhadwaita Vada

Who is the author of Viveka Chudamani?
A) Acarya Shamkara B) Acarya Ramanuja

C) Acarya Vallabha D) Acarya Nimbarka

‘Apurva’ is a very important concept of

A) Nyaya B) Vaishesika C) Vedanta D) Mimansa
Which one of the following Upnishadas is a dialogue between Naciketa and Yama---
A) Ishavasya B)Kena C) Mandukya D) Katha

How many sutras are there in Narada Bhakti Sutra ?

A) 84 B) 85 C) 90 D) 95

Which one of the philosophers of Modern age was also the founder of Co-ordinate Geometry?

A) Immanuel Kant B) Rene Descartes C) Benedict Spinoza D) John Locke
Which one of the following thinkers does not belong to the Rationalist school?

A) Descartes B) Spinoza C) Leibniz D) David Hume



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Who doubts the possibility of Knowledge?

A) David Hume B) Descartes C) Kant D) John Locke
Who equates Nature with God?

A) Kant B) Spinoza C) Leibniz D) Hume
‘Pantheism’ is a philosophical view that means .

A) Everything is God B) Everything is in God

C) All gods are one D) Nothing is God

Kant’s theory of Knowledge is known as —
A) Transcendentalism B) Pragmatism
C) Utilitarianism D) Henotheism

Kant’s Ethical theory is known as
A) Virtue Ethics B) Deontological Ethics

C) Hedonistic Ethics D) Pragmatic Ethics

Whose Ethical theory is also popularly known as ‘Rigorism’ ?

A) Spinoza B) Mill C) Moore D) Kant
‘Categorical Imparative’ means .

A) Voice of conscience B) Command of Reason

C) Law of the land D) Divine injubction

Who has writen ‘Pincipia Ethica’?
A) G.E. Moore B) Spinoza C) Kant D) Aristotle

Who has written ‘Ethica’?

A) G.E. Moore B) Spinoza C) Kant D) Aristotle
‘Prescriptivism’ in Ethics is propounded by

A) G. E. Moore B) J.S. Mill C) R. M. Hare D) Immanuel Kant

Who held that moral judgements are merely a person’s emotional expressions regarding an
act?

A) J.S.Mill B) A. J. Ayer C) R. M Hare D) G. E. Moore

Who is the author of ‘Philosophical Investigations’ ?

A) Wittgenstein B) Husserl C) Sartre D) Heidegger
Who is the author of ‘Logical Investigations’?

A) Wittgenstein B) Husserl C) Sartre D) Heidegger
‘Propositions are the pictures of facts’. This is the view of .

A) Husserl B) Latter Wittgenstein

C) Sartre D) Early Wittgenstein

‘Use theory of meaning’ emerges in the philosophy of
A) Husserl B) Latter Wittgenstein
C) Sartre D) Early Wittgenstein
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Husserl’s Phenomenology is a method to investigate an object as it is pre-rationally given in

A) Sense experience B) Original experience
C) Mystical experience D) Personal experience

In Husserl’s Phenomenology ‘Reduction’ means—

A) Reducing the data into sense data

B) Analysing the data into fundamental concepts
C) Going Back to experience

D) Going back to soul

‘Existence precedes essence’ —is the slogan given by

A) Sartre B) Kierkegaard C) Jaspers D) Heidegger
Which one of the following novel is written by Sartre?

A) ATale of Two Cities B) Hard Times

C) Nausea D) War and Peace

Who wrote ‘Being and Time'?
A) Sartre B) Heidegger C) Kierkegaard D) Jaspers

Who wrote ‘Being and Nothingness’?

A) Sartre B) Heidegger C) Kierkegaard D) Jaspers
Which one of the following thinkers has given ‘The Theory of Communicative Action’?
A) Jurgan Habermas B) Heidegger C) Kierkegaard D) Jaspers

Who holds that prejudice has a positive role in understanding a phenomenon?

A) Jurgan Habermas B) Heidegger C) H. G. Gadamer D) Jaspers

Whose Phenomenology of Perception is based on Gestalt Psychology ?

A) Jurgan Habermas B) Merleay Ponty C) H. G. Gadamer D) Jaspers
Who is a contemporary exponent of the ‘ Speech Act Theory of Language’ ?

A) John Searle B) Davidson C) Saul Kripke D) Peter Winch

Who has given the idea of Radical Translation?

A) Davidson B) Wittgenstein C) Russell D) Quine

Who presented a solution to the traditional paradoxes by the ‘Theory of Types’ ?
A) Moore B) Russell C) Wittgenstein D) Husserl

With which one of the following thinkers Russell wrote the ‘Principia Mathematica’?
A) G. E. Moore B) L. Wittgenstein C) A. N. Whitehead D) Husserl

The idea of ‘Language Game’ is given by .
A) G. E. Moore B) L. Wittgenstein C) A. N. Whitehead D) Husserl
Who envisaged language as a ‘Form of Life’?

A) Wittgenstein B) Davidson C) Quine D) Dummet

Who among the following philosophers is an Idealist ?
A) Moore B) Marx C) Bradley D) Russell



44. Who wrote ‘Appearance and Reality’?

A) Moore B) Marx C) Bradley D) Russell
45. Who proclaimed that Truth is Subjective ?

A) Jaspers B) Kierkegaard C) Sartre D) Gadamer
46. Which one of the following is not a Tautology ?

A)(Pv~P) B)~(P.~P) C)(P.P) D){(P.P)v~P}

47. Which one of the following is a Tautology?
A)PD(QDP)} B){(P2Q)DP} A{P.(@P)} D){PD(P.Q)}

48. A condition is called ‘Paradox of Material Implication’ in which—
A) A true proposition implies a false proposition

B) A false proposition implies a false proposition
C) A false proposition implies a true proposition
D) A false proposition is implied by a true proposition

49. A ‘Symmetrical Relation’ could be symbolically stated as--
A) (x) (y) (Rxy O ™~ Ryx) B) (x) (y) (Rxy D Ryx)

C) (x) (y) (Rxy D> ~Rxy ) D) (x) (y) (Rxy D Rxx)

50. Which one of the following propositions does not assert the existence of the members of the
class they represent ?
A) All humans are rational B) Some humans are rational
C) Some Humans are not rational D) Not all humans are rational

X-X-X
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. The author of the book “The Wretched of the earth” is written by:

(A)  Wilfred Pareto (B) Frantz Fanon
© Jean-Paul Sartre (D)  Anthony Elliot

. “No citizen enjoys genuine freedom of religious conviction until the state is indifferent to

every form of religious outlook from Atheism to Zoroastrianism.” Who said it?
(A)  Emanual Kant (B) Maciver
© Harold J Laski (D) David Easton

. Attributes of the traditional doctrine of Sovereignty can be summed up as:

(A) Absoluteness, Universality, Inalienability, Permanence and Indivisibility
(B)  Comprehensiveness, Inalienability, Perpetuity and Absoluteness

(C)  Perpetuity, Absoluteness, Leadership and Superiority

(D) None of the above

. From the statements given below, select which is not associated with Hobbesian Contract

(A)  Hobbes’ contract is irrevocable

(B) It confers no rights to the people against the Sovereign

(C)  Every word of the Sovereign is law and Sovereign personifies the will of all
(D)  The terms of the contract are not applicable to the generations to come

. Which articles of the Indian Constitution mention administrative relations between the

Centre and the states?

(A)  Article 240-247 (B) Article 256-263
(C)  Article 270-280 (D) Articles 281-291
. The main objective of the rule of law is to ensure:
(A)  Independence of Judiciary (B)  Liberty and equality for citizens
©) Freedom of news papers (D)  All the above

. Nationalism means:

(A)  Identification with one's own nation and support for its interests
(B)  The desire to establish a dominant empire

(C)  The desire of a people to start a war

(D)  All the above

. The members of the Senate in USA are elected through

(A)  Indirect election B) The state legislatures
© Direct election (D)  US Congress



9. In India the High Courts
(A)  Have never enjoyed power of judicial review
(B) Do not enjoy the power of judicial review
(C)  Supreme Court may allow them the power of judicial review
(D)  Enjoy the power of judicial review

10. An essential condition for the success of Liberal Democracy is that:
(A)  People should be religious
(B)  People should subscribe to one ideology
© There should be freedom of press
(D)  Election should be organized by the ruling party

11. The guiding principal of a socialist state is:
(A)  From each according to his ability and to each according to his work
(B)  Maintain difference in income and wealth between the people
©) Establish multi party democracy
(D)  From each according to his capacity and to each according to his needs

12. In the seminal work ‘The Origins of Totalitarianism’:
(A)  Herbert Marcuse laid down the foundation of a totalitarian state
B) Rousseau built a state based on ‘General Will’
© Hannah Arendt examined the roots of Communism and Nazism
(D)  None of the above is true

13. Under Article 370 of the Indian Constitution:
(A)  Parliament cannot make any law or change any policy without concurrence of
State Legislature
B) Jammu and Kashmir has its own constitution and flag
©) National Emergency except on the ground of external aggression cannot have
automatic extension to J&K
(D)  All the above are applicable

14. Number of Indian States having bicameral legislature is:

(A) 6 B 7 <© 8 D) 9
15. Who founded the ‘Servants of India Society’?

(A)  Mahatma Gandhi (B) Annie Besant

(C)  Gopal Krishna Gokhale (D)  Jawaharlal Nehru

16. Number of subjects in the Union list, the State List and Concurrent list respectively is:
(A) 97-61-47 (B) 100-66-52
(C) 98-63-48 (D) 96-62-47



17. What was the implication of 52" amendment to Indian constitution?

18.

19.

20.

21.

22,

23.

24.

(A)  Right to Property deleted from the list of fundamental rights

(B)  Defection to another political party after election made illegal

(C)  Voting age reduced from 21 to 18 years

(D)  Konkani, Manipuri and Nepali added as languages in the Eighth Schedule

Extraterritoriality stands for:

(A)  Extending a country’s territory

(B)  Redefining territorial jurisdiction with the neighbours

(C)  Extending country’s laws to the citizens living in outside territories

(D)  Privilege of immunity from local law enforcement enjoyed by certain aliens

Electoral College to elect Indian President consists of:

(A)  All the members of Lok Sabha and Rajya Sabha

(B)  Elected members of Lok Sabha and state legislatures

(C)  Elected members of Parliament and state legislatures

(D)  Elected members of state legislatures and all members of Parliament

In a post Industrial Society:

(A)  Service sector generates more wealth than the manufacturing sector
B) Industrialisation is at its peak

(C)  Industry and agriculture contribute equally to GDP

(D)  Liberal democracy is endangered

Elected non-permanent seats in UN Security Council are distributed on which basis:
(A)  On the basis of defense preparedness

(B)  On the basis of continental representation

(C)  On the basis of quantum of GDP

(D)  On the basis of seniority in UN membership

Which freedom has not been given under article 19 of the constitution?
(A)  Freedom of speech and expression

(B)  Freedom to assemble peaceably and without arms

(C)  Freedom to confess any religion

(D)  Freedom to form associations or unions

The book ‘The Twenty Years' Crisis’, published in 1939 was authored by:
(A)  Benjamin Franklin (B) E.H.Carr

© H. J. Morgenthau (D) George F. Kennan
Which of the following statements is correct?

(A)  The foundation of British Constitution was laid in the 15" century
(B)  The foundation of British Constitution was laid in the 16™ century by King
George, who issued Magna Carta
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26.

27.

28.

29.

30.

31.

(C)  The foundation of British Constitution was laid in the 13" century by King John,
who issued the first charter of British freedom known as Magna Carta
(D)  None of the above

. Which of the following is true about Fascism?

(A)  Fascism is spiritual, ethical, religious and historical in concept
(B)  Fascism is ideologically close to Parliamentary Democracy
© Fascism respects individualism, liberalism and socialism

(D)  All the Above

Theory of alienation propounded by Karl Marx is:

(A)  Theory of man being alienated from nature

(B)  Theory of man being alienated from history

(C)  Theory in which the worker is made to feel foreign to the products of his/her
own labour

(D)  None of the above

was a great supporter of the proportional representation.
(A)  Jeremy Bentham B) Harold J. Laski
(C)  John Stuart Mill (D)  John Locke
Which of the following statements wrong?

(A)  Locke does not believe that man is egoistic, quarrelsome and aggressive
(B)  Locke viewed man as selfish, power hungry and never satisfied

(C)  To Locke men are fundamentally decent, orderly and society loving

(D)  None of the above

The chief advocate of Patriarchal Theory was:

(A)  Sir Henry Maine (B)  J.J.Rousseau

© Beatrice Webb (D)  Pattabhi Sitaramayya
Aim of the Khilafat Movement in India was

(A)  To pressurise British government to preserve the authority of the Ottoman Sultan
(B) A means of achieve pan-Indian Muslim political Support for freedom movement
© To create Hindu Muslim unity

(D)  All the above

The left-right paradigm is a concept from Political Sciences and Anthropology which
proposes:

(A)  All the political systems are confronting the right wing politics

(B)  That societies have a tendency to divide themselves into ideological opposites.
(C)  Leftideology is fundamentally inward looking

(D)  Neither left nor right is sensitive to the aspirations of the people
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33.

34.

35.

36.

37.

38.

39.

40.

Poona Pact was signed between?

(A)  Gandhiji and Lord Irwin B) Gandhiji and Jinnah

© Gandhiji and S.C. Bose (D)  Gandhiji and Ambedkar
Who among the following Pakistani Nationals was awarded “Bharat Ratna” by the Indian
Government?

(A)  Liaquat Ali khan (B) Mohammad Ali Jinnah

(C)  Khan Abdul Ghaffar Khan (D) Dr. Mohammad Igbal

The first mass movement started by Mahatma Gandhi was?

(A)  Non Co-operation Movement (B)  Salt Movement

(C)  Quit Indian Movement (D)  Indigo Movement

Plato defined Justice as:

(A)  Justice is the interest of stronger

(B)  Injustice is better than justice

(C)  Justice is fulfilling one's proper role and principle of non-interference
(D)  Justice is weakness of the weaker

The Pluralists believe that:

(A)  There should be a federal form of government in the state

(B)  There should be no government at all in the state

(C)  The state should share its sovereignty with a large number of associations
(D)  Associations in the state should be deprived of most of their existing powers

Finance Commission of India is appointed every:

(A) 5 years or earlier if President desires so

(B) 5 years by the President on recommendation of Lok Sabha
© 10 years or earlier if President desires so

(D) 5 years by the Prime Minister if he desires so

The Interim Government envisaged under the Cabinet Mission Plan was formed on:
(A) 16 January 1946 (B) 2 September 1946
© 3 January 1947 (D) 26 January 1947

Most of the Amendments in Indian Constitution can be carried out:

(A) By Lok Sabha with simple or two-third majority

(B) By Lok Sabha with the consent of one half of states

(C) By Lok Sabha and Rajya Sabha with the ratification by all the states
(D) By the Lok Sabha and Rajya Sabha with simple or two-third majority

Which of the following is true?
(A)  The International Court of Justice comprises of 15 members elected for five



Year term by the countries present and voting

(B)  The International Court of Justice comprises of 15 members elected for six year
term by the UN General Assembly

(C)  The International Court of Justice has 10 members elected for nine year term by
the UN Security Council

(D)  The International Court of Justice comprises of 15 members elected for nine year
term by UN General Assembly and the Security Council

41. Democracy is a ‘government in which everyone has a share’ was the opinion of:
(A)  Abraham Lincoln B) George Washington
(C)  Albert Einstein (D)  Niccolo Machiavelli

42. Which of the statements is correct in defining gender mainstreaming?
(A)  Gender mainstreaming is women empowerment
(B)  Gender mainstreaming is integrating gender concerns in policy making
(C)  Gender mainstreaming is an end in itself rather that means to an end
(D)  Gender mainstreaming is a holistic approach to establish complete equality

43. The names of two major parties in USA are:
(A)  Labour and Democrat B) Liberal and Democrat
© Republican and Democrat (D)  Conservative and Democrat

44. Under the Presidential System of government:
(A)  Advice of the Cabinet is binding on the President
B) Advice of the Cabinet is not binding on the President
© The President cannot disregard the advice of the Cabinet
(D)  Cabinet can impeach the President

45. Which were allied powers during the Second World War?
(A) Great Britain, France, Soviet Union, United States and China
B) United States, Italy, Germany, Japan and China
© Great Britain, France, Italy, Brazil, Ireland and China
(D)  Germany, Great Britain, France and Ottoman Empire

46. Which of the following books was not written by Nehru?
(A)  Glimpses of World History B) The Discovery of India
(C)  Selected Works of Nehru (D)  An Autobiography

47. Austin’s theory of sovereignty is also known as:
(A)  Totalitarian theory of sovereignty  (B)  Traditional theory of sovereignty
(C)  Legal theory of sovereignty (D)  Monistic theory of sovereignty



48. Negative Liberalists favour:

(A)

Individual B) Society © Community (D)  State

49. Which of the following is correct?

(A)
(B)
©
D)

Rajya Sabha is only a directly elected house

India has geographical boundaries with 7 countries
India has 29 states and 7 union territories

John Rawls was a great British liberal political thinker

50. Which of the following about Legislative Council is correct?

(A)
(B)
©
D)

Governor nominates 1/3™ of its members on the basis of qualification
Legislative Assembly nominates 1/6™ of its members on party basis
University Teachers elect 1/12™ of its members from themselves
Graduates of the state with three years' standing elect 1/12" of its members

X-X-X



Police Administration(M.Phil.)
1. Which of the following British Lord created Intelligence Bureau during the British Rule in
India?
A) Lord Lytton B) Lord Curzon C) Lord Minto D) Lord Irwin

2. Which Section of Indian Police Act, 1861 required maintenance of a General Diary in Police
Stations?

A) Section 42 B) Section 43 O Section 44 D) Section 49
3. The Criminal Procedure Code came into force in India from:
A) 15 February, 1863 B) 1 January, 1862
O) 5 September, 1864 D) 1 August, 1861
4. During the Moghul period, who among the following was incharge of the entire police force?
A) Kotwal B) Subedar O Fauzdar D) None of these
5. Central Industrial Security Force was set up on:
A) September 10, 1961 B) March 10, 1969
O November 19, 1965 D) October 15, 1960

6. The law relating to Inquest-investigation is contained in which section of the Code of
Criminal Procedure?

A) Section 164 B) Section 471 C) Section 174 D) Section 147

7. The International Criminal Police Organization popularly known as Interpol has its head
quarters at:
A) New York, USA B) Chicago, USA
O Lyon, France D) London, England

8. The Government of India created Shri Soli Sorabjee Committee to draft a new police act on:
A) September 9, 2006 B) September 20, 2005
O November 9, 2005 D) October 5, 2006

9. The salary and pension expenditure of the IPS officers posted in a state are met by:
A) The Central Government

B) The State Government
O Partially by Central Government and partially by State Government
D) None of the above
10. Who among the following characterizes crime as a symptom of social disorganization?
A) Tappan Paul W. B) Lombroso
O Sutherland D) Cesare Beccaria
11. Who among the following propounded the classical school of criminology?
A) Enrico Ferri B) J.L. Gillin
O Raffaelo Garofalo D) Cesare Beccaria

12. Who has given conflict theory of criminal behavior?
A) Dr. E.A. Hooton B) Vold G.B.
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

O) W.A. Bonger D) Dr. Glueck

. Which of the following section of the Information Technology Act, 2000 deals with

unauthorized access to a computer, computer system or computer network?
A) Section 40 B) Section 42 O Section 43 D) Section 44

The Police Officer investigating cyber crime under Section 80 of I.T. Act, 2000 should not be
below the rank of:

A) Sub-Inspector B) Inspector

@) Deputy Superintendent of Police D) Superintendent of Police

Which of the following section of the Juvenile Justice (care and protection of children) Act,
2000 makes provision for ‘Special Homes’ for Juveniles?

A) Section 7 B) Section 8 O Section 9 D) Section 10
Which of the following country in the world was the first to legalize euthanasia?

A) England B) USA O Canada D) Netherlands
In India, first women jail was established at:

A) Calcutta B) Pune O Yarwada D) Patiala
Which of the following state was first to establish open jail in India?

A) Madhya Pradesh B) Maharashtra

O Kerala D) West Bengal

The term of office of the Vice-President is:

A) 2 years B) 3 years O 5 years D) 6 years

The greatest resistance to Scientific Management school came from:

A) Human Relationists B) Workers

O Managers D) Trade Unions

The first country in the world to introduce the right to information was:

A) Norway B) USA O Sweden D) Finland

In the House of People (Lok Sabha), number of representatives from the Union Territories

cannot exceed:

A) 10 B) 20 O) 30 D) 40
Selection of every nth person, from a list of persons, to be included in a sample is called:
A) Purposive sampling B) Systematic sampling

@) Accidental sampling D) Stratified sampling

The experimental study is based on:

A) The manipulation of variables B) Conceptual parameters

@) Replication of research D) Survey of literature

Which of the following is not the characteristic of a research?

A) Research is systematic B) Research is not a process
@) Research is problem oriented D) Research is not passive
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27.

28.

29.

30.

31.

32.

33.

Section 82 of IPC provides that nothing is an offence which is done by a child under:

A) Six years of age B) Seven years of age

©) Nine years of age D) Ten years of age

Which of the following is correct for the aforesaid:

L The physical aspect of crime is actus reas.

IL. The mental aspect of crime is mens rea.

ML The motive is the desire to commit crime

A) I & II are correct but III is not correct

B) Only IT & 1T

@) Only I & III

D) LI &I

Right to private defence is:

A) Available under all circumstances

B) Available where there is time to have the recourse to the protection of public
authorities

©) Available where there is no time to have recourse to the protection of public
authorities

D) All of the above

Which of the following Section of the IPC deals with solitary confinement?

A) Section 71 B) Section 72 O Section 73 D) Section 74

Section 311 of the Code of Criminal Procedure, 1973-

A) Is confined to Court witnesses

B) Does not apply to defence witnesses

O Cannot be exercised after the accused had closed his defence

D) Does not include “accused” as witness

Compounding an offence under section 320 of the Code of Criminal Procedure, 1973-

A) Can only be done after obtaining the permission from the Court

B) Can only be done by the complainant

@) Cannot result in acquittal of the accused

D) None of these

If a judge dies after writing his judgement but before delivering it-

A) The judgement will be final as long as the judge has signed it

B) The judgement will be final if his successor comes and delivers it

@) The judgement will be considered merely as an opinion

D) The judgement will be final in criminal proceedings

The maximum possible compensation awardable under section 357 of the Code of Criminal

Procedure, 1973:
A) Depends on the Court in which the case is being tried
B) Cannot exceed the maximum fine possible for the offence
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35.

36.

37.

38.

39.

40.

41.

O Cannot exceed Rs.1,00,00,000

D) Depends on the discretion of the judge

Generally dying declarations are admissible as evidence under-

A) Section 20 of the Indian Evidence Act, 1872

B) Section 25 of the Indian Evidence Act, 1872

O Section 32 of the Indian Evidence Act, 1872

D) Section 35 of the Indian Evidence Act, 1872

Definition of secondary evidence has been given under of the Indian Evidence
Act, 18727

A) Section 61 B) Section 62 O Section 63 D) Section 64
Under the Protection of Women from Domestic Violence Act, 2005, domestic violence
includes

A) Physical and Sexual abuse B) Verbal and Emotional abuse

O Economic abuse D) All the above

The steps taken by the police for collection of evidence is known as:

A) Enquiry B) Investigation

o) Remand D) None of the above

A search warrant is a written authority given to a police officer or any other person for the
search of any place

A) Generally

B) For specified things or documents

@) Generally as well as for specified things or documents

D) None of the above

A police officer arresting a person may carry out the personal search of the person arrested,
as provided

A) Section 50 of CrPC B) Section 51 of CrPC

O Section 54 of CrPC D) Section 56 of CrPC

Which of the following statements does NOT hold true for the confessions made to the
Magistrate under the provisions of the Code of Criminal Procedure, 1973?

A) It is the duty of the Magistrate to exclude the presence of the police officer from
the

place where the confession is recorded

B) It is obligatory for the Magistrate to warn the accused, before recording his
confession that he is not bound to make it and that if he does so, it may be used as
evidence against him

©) The accused should be sent back to police custody as soon as the confession is
recorded

D) It is necessary for the confession to be signed by the accused

A plea that an accused was somewhere else when the crime was committed:

A) Alibi B) Declaration C) Allegation D) Proof
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49.

50.

Which of the following statements hold true for the Magistrate’s power to send an accused to
remand under Section 167 of the Code of Criminal Procedure, 19737

A) If the investigation is not completed within 60 days he has to be released on bail
B) The maximum period of remand in police custody cannot exceed 15 days, after
that
only sending to judicial custody is possible
©) The maximum period of remand in judicial custody cannot exceed 15 days, after
that only sending to police custody is possible
D) If the investigation is not completed within maximum period of 90 days the

accused has to be released

Which of the following statements in NOT true regarding the charge sheet made under the
provisions of the Code of Criminal Procedure, 19737

A) In case of offence of a rape of a child the charge sheet must be submitted within
three months of the FIR

B) After submission of the charge sheet there cannot be any further investigation into
the case by police

@) The right to be released on bail is lost once the charge-sheet is filed

D) Charge sheet against absconding accused can be filed even if the accused is not
arrested

Which police force is currently providing security cover to nuclear installations, airport,

seaports, power plants?

A) BSF B) CRPF @) CISF D) Indian Army

The Convention for the Prevention and Punishment of Terrorism was adopted in the year:

A) 1919 B) 1937 @) 1948 D) 1958

Which one of these is NOT a class characteristic of a fingerprint?

A) Whorl B) Tented Arch C) Loop D) Bifurcation

Preservation of footprint on snow can be done by

A) Plaster of Paris Cast B) Sulphur Casting

@) Tracing D) Wax Casting

The scales of hair can be preserved with the help of

A) Wax cast B) Nail polish

O Plaster of Paris cast D) Plasticine

The following typing is used to determine the both sex from a biological specimen:

A) Mt. STR typing B) Amelogenin typing

@) PCR typing D) Y-STR typing

Teaching of Forensic Science for the first time in India was started in 1959 at the following

place:
A) Delhi B) Hyderabad C) Patiala D) Sagar
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Psychology(Ph.D.)

. Factor analysis was invented by:
(A)  Ferguson

(B)  Spearman

(C)  Pearson

(D)  Fruchter

. The effect of the independent variable on the dependent variable for each level of the

other variable is called:

(A)  Simple effect

(B)  Main effect

(C)  Interaction effect

(D)  Partial regression coefficient

. Semantic differential method was invented by:

(A)  Spearman
(B)  Osgood
(C)  Strong

(D)  Havighurst

. Power of a test is to:

(A)  Correctly accept the null hypothesis

(B)  Correctly reject the null hypothesis

(C)  Correctly reject the alternative hypothesis
(D)  None of the above

. Resting potential of the neuron is:

(A)  -70mV
(B)  70mV
(C)  40mV
(D)  -40mV

. Which part of the human nervous system is also called “thermostat” of the body:

(A)  Thalamus

(B)  Autonomic nervous system
(C)  Hypothalamus

(D)  Limbic system

. Fovea has:

(A) Bothrods and cones
(B)  Only rods

(C)  Only cones

(D)  Neither rods nor cones



10.

11.

12.

13.

14.

____is known as “white of the eye”:
(A)  Sclerotic coat

(B)  Choroid coat

(C) Retina

(D)  Fundus

Which of the following is the symbol for reaction potential:

(A)  sHr
B) D

(©)  sEr
(D)  sOr

“Learning by contiguity” was proposed by:
(A)  Skinner

(B)  Tolman

(C) Hull

(D)  Guthrie

Which school of psychology analyzes consciousness into basic elements:
(A)  Associationism

(B)  Structuralism

(C)  Functionalism

(D)  Behaviourism

Which of the following concepts have been proposed in Lewin’s theory:
(A) Communication

(B)  Locomotion

(C)  Hodological space

(D)  All the above

Who proposed the classification of claustral and urethral complexes in his theory:
(A)  Freud

(B)  Sullivan

(C) Murray

(D)  Allport

The concept of erg and meta-erg has been proposed in the theory by:
(A)  Sullivan

(B) Cattell

(C) Murray

(D)  Allport



15.

16.

17.

18.

Who has classified intelligence as componential,
intelligence:

(A) Jensen

(B) Cattell

(C) Goleman

(D)  Sternberg

Who belongs to the school of associationism:
(A)  Ebbinghaus

(B)  Pavlov

(C)  None of the above

(D) Both (A) and (B)

Who proposed the “tridimensional theory of feeling”:
(A)  Titchener

(B)  William James

(©) Wundt

(D) Lange

refers to inherited disposition to perceive or act in a certain way:

(A) Persona
(B)  Archetype
(C)  Complex
(D)  Shadow

experiential,

19. Which of the following is a non-parametric equivalent of t-test:

(A)  Mann Whitney test
(B)  Friedman’s test
(C) Z-test

(D)  Wilcoxon test

and contextual

20. When scores in a distribution cluster on the right side of the curve, it is called:

21.

(A)  Positive skewness
(B)  Positive kurtosis
(C)  Negative skewness
(D)  Negative kurtosis

The fact that the Normal Probability Curve can be divided into two equal halves is

2

depicted by the statement that the “curveis ____ ™
(A)  Symmetric

(B)  Asymptotic

(C)  Unimodal

(D)  Bimodal



22. Which type of reliability is generally suitable for calculating reliability of a speeded test:
(A)  Test-retest reliability
(B)  Alternate form reliability
(C) Both (A) and (B)
(D)  None of the above

23. When we want to construct an achievement test, which type of validity is typically
assessed:
(A)  Content validity
(B)  Construct validity
(C)  Criterion validity
(D)  Face validity

24. Which of the following scales has a “true” zero point:
(A)  Nominal scale
(B)  Ordinal scale
(C) Ratio scale
(D)  Interval scale

25. The proportion of true variance in total variance is called:
(A)  Sum of squares
(B)  Reliability
(C)  Validity
(D)  Mean sum of squares

26. S.D=
(A)  Variance
(B)  Under root of variance
(C)  (Variance)
(D)  Cube root of variance

27. Who has classified traits as cardinal, central, and secondary traits:
(A) Cattell
(B)  Allport
(C)  Sullivan
(D)  Murray
28. “Dwarfism” is caused due to malfunctioning of the:
(A)  Thyroid gland
(B)  Adrenal gland
(C)  Pituitary gland
(D)  Pineal gland



29. The concept of “field independence” has been developed by:
(A) Lewin
(B)  Witkin
(C)  Fiedler
(D)  Atkinson

30. The term “Eureka experience” was coined by:
(A) Wallas

(B)  Witkin
(C)  Guilford
(D)  Kohler

31. Army Alpha test is a:
(A)  Verbal test
(B)  Non-verbal test
(C)  Performance test
(D)  None of the above

32. The technique of sociometry helps in assessing:
(A)  Anindividual’s likeability
(B)  Group cohesion
(C) Both (A) and (B)
(D)  Neither (A) nor (B)

33. Sphygmomanometer is used to check:
(A)  Heartrate
(B)  Blood pressure
(C)  Respiration
(D) GSR

34. Which of the following are types of concepts:
(A)  Conjunctive
(B)  Disjunctive
(C) Relational
(D)  All the above

35. Theory of cognitive dissonance has been given by:
(A)  Ferguson
(B)  Friedman
(C)  Festinger
(D)  Fiedler



36. Which need lies at the highest level of Maslow’s hierarchy of motives:
(A)  Self-actualization
(B)  Cognitive needs
(C)  Aesthetic needs
(D)  Transcendence

37. Who gave the “tip-of-the-tongue” phenomenon:
(A) Hilgard & Atkinson
(B)  Brown & McNeill
(C)  Tulving
(D)  Broadbent
38. The “information processing model” of memory has been proposed by:
(A)  Atkinson & Shiffrin
(B)  Atkinson & Tulving
(C)  Shiffrin & Tulving
(D)  Hilgard & Atkinson
39. Who gave the term “null hypothesis™:
(A)  Spearman
(B)  Pearson
(C)  Guilford
(D)  Fisher
40. Which of the following are types of memory:
(A)  Sensory memory
(B)  Short-term and long-term memory
(C)  Declarative and procedural memory
(D)  All the above
41. Who gave the concept of “episodic memory’”:
(A)  Quillian
(B)  Tulving
(C)  Broadbent
(D)  Atkinson
42. Who has worked in the area of aggression:
(A)  BradJ Bushman
(B)  Craig A Anderson
(C) K. Bjorkqvist
(D)  All the above
43. High “need for affiliation” denotes the need to:
(A)  Seek company of others
(B)  Stay away from others
(C)  Exert influence over others
(D)  Be non-adjusting



44. Korte’s laws of movement are based on which of the following factors:
(A) Intensity, distance, and rehearsal
B) Intensity, time interval, and rehearsal
© Distance, time interval, and rehearsal
(D) Intensity, distance, and time interval

45. Attribution theory includes the attribution of success/failure outcomes to which type of causes:
(A) Internal versus external causes
(B)  Global versus specific causes
(C)  Stable versus unstable causes
(D)  All the above

46. “Glass ceiling effect” is an indicator of:
(A) Harmony
(B)  Alienation
(C)  Hopelessness
(D)  Discrimination

47. The different types of leadership include:
(A)  Transformational leadership
(B)  Transactional leadership
(C)  Laissez-faire leadership
(D)  All the above

48. Which of the following are types of triangulation:
(A) Investigator triangulation
(B)  Data triangulation
(C) Both (A) and (B)
(D)  None of the above

49. Which of the following attitude scales include monotone items:
(A)  Guttman’s scale
(B)  Thurstone’s scale
(C) Both (A) and (B)
(D)  None of the above

50. A well-known theory of genetic epistemology in psychology has been proposed by:
(A)  Kohlberg
(B)  Piaget
(C)  Chomsky

(D) Bandura
X-X-X



10.

11.

12.

Public Administration(Ph.D. & M.Phil.)
Which of the following thinkers does not belong to classical school of thought?
(A)  Fayol (B)  Gullick (C)  Simon (D)  Urwick

"Public Administration is the art and science of management as applied to the affairs of
State", who said it?
(A) Waldo (B)  White (C) Wilson (D)  Walker

Whose name is associated with combining Span of Control with Span of Attention?
(A)  Merton (B)  Simon (C) Blau (D)  Graicunus

Which one falls in the category of a Staff Agency?
(A)  Agriculture Dept. (B)  NITI Aayog
© Labour Union (D)  LIC of India

Which is generally not a unit of Revenue Administration?

(A) Block B) Village © District (D)  Tehsil
Which of these includes mainly the proposals for taxation?

(A)  Appropriation Bill (B) Finance Bill

(C)  Supplementary Bill (D)  Economy Bill

Which of the following is not a basic feature of New Public Administration?

(A)  Phenomenology (B)  Social Equity

(C)  Development Orientation (D)  Client Orientation

Whose name is associated with "Mass Interviewing Programme" in 1928-317?
(A) Mayo (B)  Wilson (C)  Goodnow (D)  White

Which of these countries adopted the system based on 'Separation of Powers'?
(A) India B) U.K. © Germany (D) USA

Which of the following was not given by Weber as a feature of bureaucracy?
(A)  Rules (B)  Morale (C)  Career (D)  Efficiency

The modified system of Competitive Exams for Civil Services started in 1979 was on the
recommendation of:

(A)  Gorwala Report (B) ARC-I

(C)  Appleby Report (D)  Kothari Commission

When the Government is given authority by the legislature to withdraw funds for about a
month, it is called --
(A)  Vote on Credit B) Supplementary Grants



13.

14.

15.

16.

17.

18.

19.

20.

21.

22

23.

© Vote on Account (D)  Exceptional Grants

Theory "X" and theory "Y" were given by --
(A)  McGregor (B) Herzberg ©) Alderfer (D)  Vroom

Whitley Councils are basically meant for which of the following?
(A)  Training B) Higher Management
(C)  Financial Management (D)  Employer-Employee Relations

Which of the following taxes is levied and collected by the Union and the proceed is
divided between Union and States?

(A)  Custom Duty (B)  Stamp Duty

© Income Tax (D)  Corporation Tax

Action under which of the Art. of the Constitution has never been taken
(A) 352 (B) 356 ©) 360 (D) 368

Whose name is associated with 'Public Choice Theory'?
(A)  Dror (B)  Buchanan (C)  Goodnow (D)  Fredrick

Which was not primarily advocated by Woodrow Wilson?
(A)  Science of Administration B) Delegation of Powers
(C)  Comparative Approach (D)  Politics-Administration Dichotomy

Which of the following categories of PSUs enjoys the autonomy of investing upto Rs.
1000 crore without government nod?
(A)  Navratnas B) Maharatna © Miniratna-I (D)  Miniratna-II

The Civil Service was defined as “professional body of officials, permanent, paid and

skilled by
(A)  Herman Finer (B)  O. Glen Stahl
© E.N. Gladden (D)  Max Weber

Any aggrieved consumer may file a case in the consumer forum against the company
within time of the rise of cause.
(A)  Three months (B)  Six Months (C)  One Year (D)  Two Years

In the Arthashastra, Kautilya identified modes of corruption.
(A) 32 B) 40 < 24 (D) 36

Which of the following is not specifically a type of sampling?
(A)  Cluster (B)  Variate (C)  Probability (D)  Multi stage



24.

25.

26.

27.

28.

Which of the following is not a tool of qualitative research?
(A)  Focus Group Discussion B) Interview
(C©)  Questionnaire (D)  Observation

Who differentiated five categories of bureaucrats, namely climbers, conservers, zealots,
advocates and statesman?

(A)  Vincert Genrney (B) Max Weber

(C)  Anthony Downs (D)  Mechel Crozier

Match List-I with List-II and select correct answer by using the code given below the
lists:

List-I List -I1T

a) Decentralization 1. Based on Political and legal action

b) Devolution 2. Based on administrative action

¢) De-concentration 3. Based on functional imperative

d) Delegation 4. Based on political, legal and administrative action
a b. c d.

(A) 4 1 2 3

B) 4 2 3 1

<o 1 2 4 3

D) 1 3 4 2

List-I List-1I

a) Incremental Approach 1. Y. Dror

b) Rational Approach 2. David Easton

¢) Systems Approach 3. H. Simon

d) Normative-Optimum Model 4. H. Lasswell
5. C. Lindblom

a b. c d
(A) 4 5 1 2
B) 5 3 4 1
<C 4 2 1 5
D) 5 3 2 1

Split system in Indian administration is generally referred to......
(A)  Policy making and Executing agencies

B) Generalists and Specialists

© Political and Permanent executives

(D)  Audit and Accounts



29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

"Distrust of meta narratives" is considered as a feature of......
(A)  New Public Management B) Neo Taylorism
©) Marxism (D)  Postmodernism

National Commission on SC is a:
(A)  Constitutional body (B)  Statutory Body
© Body created by executive (D) A Society

According to Robert A. Dahl the attempt to create a science of public administration was
handicapped by three basic problems. Which are those three?

1. Values 2. Norms 3. Individual personality 4. Social framework

(A 1,23 B) 234 <) 134 (D) 124

Which one is not a type of hypothesis?
(A)  Directional B) Complex
© Unrelated (D)  Statistical

Which of the following kind of Public Enterprises is created by a special Act of

Legislature?
(A)  Public Company (B)  Departmental Undertaking
© Joint Stock Company (D)  Public Corporation

Which one is closely associated with 'Input-Output Model'?
(A)  Easton (B) Simon ©) Taylor (D)  Mooney

Which of the following committees recommended the 'organically linked' panchayatiraj

system?
(A) G.V.K.Rao Committee B) Ashok Mehta Committee
© Santhanam Committee (D)  Balwantrai Mehta Committee

As per 'principal-agent theory' which one of the following is Principal?
(A)  Citizens B) Administration
© President (D)  Cabinet

Which one was not associated with 'Public Policy Approach'?
(A) Lasswell B) Dror © Lindbloom (D)  Buchanan

Which of these is not primarily for urban areas?
(A) HRIDAY (B) AMRUT
© Ajeevika (D)  Swatchh Bharat



39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

Department of Official Language is the part of which Ministry?
(A) HRD (B) Home
(C) Laws (D)  Cultural Affairs

Who used the concept of 'Development Administration' in the first time?
(A) F.W.Riggs (B) Donald Stone (C) U.L. Goswami(D) B.B Misra

Which one is odd among the following?
(A)  Lokpal (B)  Ombudsman
© Parliamentary Commissioner D) C&AG

Who holds the disciplinary authority in case of an IAS officer posted in Punjab?

(A)  President of India (B) The PM of India

(C)  The CM of India (D)  The Governor of Punjab
Which of the following is generally not a primary source of data?

(A)  Interviews B) Field Observations

© Experiments (D)  Annual Reports

Which of the following is the Central Financial Agency in Britain?
(A)  Ministry of Finance (B)  Chancellor of Exchequer
© Office of Management & Budget (D)  Treasury

Which of the following Articles of the Constitution of India carries some elements of
Rules of Natural Justice?
(A) 348 B) 309 (C©) 342 (b) 311

A Joint Secretary in GOI in generally the in-charge of:
(A)  Branch (B) Department (C)  Wing (D)  Division

Which of the following is the Parliamentary Committee for control over Delegated

Legislation?

(A)  Committee on Executive Legislation

(B)  Committee on Delegated Legislation

(C)  Committee on Subordinate Legislation
(D)  Committee on Administrative Legislation

Who was the first Chairman of Comparative Administrative Group?
(A)  Ferrel Heady (B)  Fred Riggs
© Donald Stone (D)  Dwight Waldo



49.

50.

Name the author of the book ‘Intellectual crisis in American Public Administration?
(A)  Robert Merton (B) R.A. Rhodes
© David Osborne (D)  Vincent Ostrom

According to the Contingency Model of leadership effectiveness, the effectiveness of the
leader is contingent upon which of the following factors?

1. Characteristics of the subordinates

2. The task structure

3. The leader-member relations

4. Environmental pressures

5. The leader's position power

(A) 1,2,and5 (B) 23and4
(C) 34and>5 (D) 2,3,and 5

X-X-X
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Sikh Studies(Ph.D.)
1. Which option is correct

A) Vedas - 05

B) Puranas - 08

C) Upanishads - 108

D) Samrities - 24
2. Which is correct

A) Ragas in Guru Granth Sahib - 31

B) Banikars in Guru Granth Sahib - 32

C) Ashatpadies of ‘Sukhmani’ Sahib - 28

D) Pauries of Japuji are - 36
3. Identify the incorrect

A) ‘Dakhni Onkar’ bani - Guru Nanak

B) ‘Funeh’ bani - Guru Arjan Dev

C) ‘Akal Ustat’ - Guru Amardas

D) ‘Bachitar Natak’ - Guru Gobind Singh
4. ‘Digamber’ sect is related to

A) Buddhism B) Jainism C) Judaism D) Hinduism
S. Which is not the school of Indian Religious Philosophy

A) Nyaya B) Vaishnva C) Sankhya D) Vaiseshika
6. Suttapitaka is related with

A) Islam B) Jainism C) Christanity D) Buddhism
7. Hymns are not included is Guru Granth Sahib

A) Tulsidas B) Baini C) Sain D) Tarlochan
8. The holy quran consist of Chapters

A) 114 B) 118 O 110 D) 124

9. Polytheism is

A) Dualism B) One God C) Many gods D) Self

10. What is the Sikh flag called
A) Khanda B) Tegh C) Nishan Sahib D) Gurdwara

11. Which is correct
A) Sri Gurpartap Suraj Granth is written by Bhai Chapa Singh
B) Bansawali Name ‘Dasan Patshahian Ka’ (Ten Guru’s) is written by Kesar Singh
Chhibar
C) Guru Sobha is written by Rattan Singh Bhangoo
D) Guru Shabad Ratnakar Mahan Kosh written by Bhai Vir Singh



12. Birth of Maharaja Ranjit Singh

A) 1782 at Pishawar B) 1784 at Kabul
C) 1780 at Gujranwala D) 1772 at Multan
13. Which is correct :
A) Guru Nanak and the Sikh Religion (book) - J.S. Grewal
B) Guru Nanak in History (book) - W.H. Mcleod
C) Hum Hindu Nahi (book) - Bhai Kahn Singh Nabha
D) Pracheen Panth Parkash (book) - Bhai Sukha Singh
14. Identify which saying is incorrect according to Sikhism
A) Chardi Kala B) Deg Tegh Fateh
C) Sarbat da Bhalla D) Fear and Frighten

15. Name of 8" Guru in Sikh Guru Tradition
A) Guru Har Gobind B) Guru Har Rai C) Guru Harkrishan D) Guru Arjan Dev Ji

16. Guru Nanak’s Baramah is written in
A) Aasa Rag B) Majh Rag C) Soohi Rag D) Tukhari Rag

17. Which is the right option :
A) Panjab Journal of Sikh Studies is published by Panjab University Chandigarh
B) Nanak Parkash Patarika is published by Guru Nanak Dev University Amritsar
C) Khoj Darpan is published by Punjabi University Patiala
D) Abstract of Sikh Studies journal is written by Delhi University Delhi

18. ‘Zaffarnama’ written by Guru Gobind Singh was addressed to which emperor

A) Akbar B) Jahagir C) Aurangjeb D) Farukhsiar
19. Which Bani is Rag mukat (not written in Rag)

A) Japuji B) Sukhman C) Anand Sahib D) Aasa Di Var
20. Primary source of Chandi di Var is

A) Garur Puran B) Markande Puran C) Katha Puran D) Mahabharat
21. Which source of the Sikh History is not correct

A) Vaarn Bhai Gurdas B) Guru Granth Sahib

C) Panth Parkash D) Anand Parkash

22. The following Sikh Piaras were from :
A) Bhai Daya Singh was from Lahore
B) Bhai Himat Singh from Delhi
C) Bhai Mohkam Singh was from Jagannath puri
D) Bhai Sahib Singh was from Dwaraka Puri



. Which is right answer
A) Bhagat Namdev was from Banaras
B) Bhagat Kabir was from Maharastra
C) Bhagat Ravi Das was from Lucknow
D) Bhagat Dhana was from Rajasthan

. What was the name of the Father of Guru Tegh Bahadur Ji.
A) Guru Hargobind B) Guru Har Rai C) Baba Gurdita D) Ram Rai

. Which option is correct :
A) Guru Amardas has established ‘22 preching centres’ (Manjias)
B) Guru Hargobind Singh introduced ‘Sant Sipahi’
C) Guru Arjan Dev Ji gave the honour of ‘Sapreme Guru’ to Adi Granth
D) Guru Gobind Singh Ji introduced ‘Miri Piri’

. Which saying is incorrect :
A) ‘Kita Pasao, Aako Kavao’ - Guru Nanak Dev Ji
B) ‘Bhai Kahu Kau deit mahi nah bhai manat’ - Guru Tegh Bhahadur
C) ‘Tati Vau n lagai Parabrahan Sarnai’ - Guru Arjan Dev Ji
D) ‘Soora so Pehchaniye jo larey deen ke hait’ - Guru Gobind Singh

. Who was Dhirmal
A) Son of Guru Har Rai B) Brother of Guru Hargobind
C) Father of Guru Harkrishan D) Brother of Guru Har Rai
. Find out correct answer
A) Sahib Singh- Sachi Sakhi B) Puran Singh- The Spirit Born people
C) Kapur Singh- Gurbani Viyakaran D) Bhai Jodh Singh- Gurmat Martand

. Guru Tegh Bahadur’s martyrdom took place in
A) 1656 B) 1669 C) 1670 D) 1675

. Which is the fourth Khand in Japuji
A) Dharam Khand B) Karam Khand C) Sach Khand D) Gyan Khand

. Which is incorrect
A) The name of Guru Nanak Dev Ji’s wife was ‘Sulkhani’
B) The name of the daughter of Guru Amardas Ji was Bhani
C) The name of Guru Angad Dev Ji’s wife was Khivi
D) The name of Guru Arjan Dev Ji’s mother was Ganga

. The man who knows one religion knows none is said by
A) Max Mullar B) E B Taylor C) Mircea Eliade D) Max Weber

. Who was the exponent of phenomenology of Religion
A) E B Taylor B) Paul Tillich C) G. Van der leeuw D) Max Muller



34. Indentify the incorrect match

A) The Author of book ‘The Golden Bough’ - James Frazer
B) The Author of book ‘Idea of Holy’ - Rudolf Otto
C) The Author of book ‘The Varieties of Religious experiences’ - William James

D) The Author of book ‘Primitive Cultures’ - Emile Durkheim

35. Meaning of the Concept of Trinity is
A) Cities of God B) Prophet of God
C) Three Roads towards God D) Father, Son and Holy Spirit

36. Which is correct
A) The last raga of Guru Granth Sahib is Bahiro Rag
B) The first Raga of Guru Granth Sahib is Siri Rag
C) The last Raga of Guru Granth Sahib is Rag Sorth
D) Anand Sahib is not written in Ramkali Rag

37. Prophet of the Old Testament

A) St. Paul B) St. Thomas C) Jesus Christ D) Jermuah Jeremiah
38. Identify the incorrect
A) Guru Nanak Dev Ji has established city - Kartarpur
B) Guru Amardas ji has established city - Goindwal Sahib
C) Guru Arjan Dev Ji has established city - Amritsar
D) Guru Hargobind Ji has established city - Kiratpur
39. Who is the writer of Pracheen Panth Parkash
A) Rattan Singh Bhangoo B) Giani Gian Singh
C) Bhai Santokh Singh D) Kesar Singh Chhiber
40. Who has edited Shabadarth Guru Granth Sahib
A) Principal Teja Singh B) Professor Sahib Singh
C) Bhai Vir Singh D) Giani Dit Singh
41. Which is incorrect
A) Five Khands - Sikhism
B) Five Pillars - Islam
C) Five Nobel Truth - Budhism

Jainism

D) Five Mahavratas

42. Which is the correct statement
A) Primitive man was very logical
B) Primitive man was very analytical
C) Primitive man was very intellectual
D) Primitive man was afraid of natural forces



43.

44.

45.

46.

47.

48.

49.

50.

The great challenge to Religions Harmony

A) Religious understanding B) Religious Tolerance

C) Religious indifference D) Religious Politics

In today’s life style religion is facing challenges from
A) Materialism B) Communalism C) Fanaticism

Which institution was founded by Guru Hargobind Ji
A) Guru Granth Sahib- Guru Panth
B) Gur matta
C) Akal Takhat
D) Sarbat Khalsa
The word ‘Religion’ has its roots in the language :

A) Greek B) Hebrew C) Spanish
Religious experience concerns with
A) Agnosticism B) Materialism C) Spiritualism

Which is correct order of Vedas

A) Rigvad, Yajurved, Samved, Atharved

B) Rigved, Samved, Atharv veda, Yajur veda
C) Samved, Rigved, Yajur veda, Athar veda
D) Rigved, Yajur ved, Athurved, Sam ved

The 550™ Celebration of Guru Nanak’s parkash utsav falls in
A) 2018 B) 2019 C) 2020

Which Dhram rejects idol worship
A) Hinduism B) Jainism C) Buddhism

X-X-X

D) All of these

D) Latin

D) Structuralism

D) 2021

D) Sikhism



10.

Sociology(Ph.D. & M.Phil.)

Who wrote the book ‘Social change in Modern India’?
(A)  Yogendra Singh B) Karl Marx
© Andre Beteille (D)  M.N. Srinivas

Who gave the concept of “Looking Glass Self”?
(A) G.H. Mead B) Robert Park
© W. I Thomas (D)  C.H. Cooley

Who coined the concept of ‘collective effervescence’?
(A)  Auguste Comte (B)  Emile Durkheim
(C) Max Weber (D)  Georg Simmel

Who developed Social physics?
(A)  Auguste Comte B) P. Sorokin
© Max Weber (D)  Robert Merton

is a variety of ethnomethodology

(A)  Pragmatism (B) Behaviourism
(C)  Frame Analysis (D)  Conversation Analysis

Who among the following does not belong to Chicago school of Sociology?
(A)  R. Dahrendorf (B) C.H .Cooley
(C) G.H.Mead (D)  Robert Park

Which is a type of non- probability sampling?
(A)  Stratified Random Sampling (B)  Simple Random Sampling
© Quota Sampling (D)  Cluster sampling

Which of the following is a measure of Central Tendency?
(A)  Standard Deviation B) The Median
© Variable (D)  Sample

Which state in India has the highest sex ratio?
(A) Haryana B) Uttar Pradesh
© Tamil Naidu (D)  Kerala

Which of the following is an NGO working in the field of women empowerment?

(A) Green Peace (B) AMUL



11.

12.

13.

14.

15.

16.

17.

18.

19.

© SEWA (D)  None of these

Who among the following analysed caste on the basis of ‘purity — pollution’?
(A)  S.C.Dubey B) Louis Dumont
© Herbert Spencer (D)  A.R.Desai

Who gave the concept of ‘preventive checks’ in population?
(A)  Karl Marx (B)  Paul Ehrlich
© Thomas Malthus (D)  Simon Hopkins

Who wrote the book “The Remembered Village”?
(A)  Radcliffe Brown B) M.N.Srinivas
© S.C. Dubey (D)  Malnowski

Who of the following is a Subaltern theorist?
(A)  G.S.Ghurye B) Louis Dumont
© N.K . Bose (D) B.R.Ambedkar

Which of the following is correctly matched?

(A)  Suicide — Max Weber

B) The Rules of sociological Method — Karl Marx

(C)  The Elementary Forms of Religious Life — Emile Durkheim
(D)  The Division of Labour — Georg Simmel

Who among the following is a neo- functionalist?
(A)  Rousseau (B)  Ivan Illich
© Talcot Parsons (D) J.C. Alexander

‘Risk Society: Toward a New Modernity’ was authored by
(A)  Anthony Giddens (B)  Amartya Sen
(C)  Ulrich Beck (D)  J. Habermas

Where was the International Conference on Population and Development (ICPD), 1994
held?

(A)  Bucharest (B)  London

(C)  New York (D)  Cairo

Which book was written by G.H. Mead?
(A)  Suicide (B)  Mind, Self and Society
(C)  Presentation of self in Everyday Life (D)  Economy and Society



20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

30.

Calvinism and Spirit of Capitalism is associated with
(A) Max Weber (B) Blumer ©) T. Parsons (D)  A.Baldwin

Essay on the Principle of Population was written in which year by Malthus?
(A) 1790 B) 1744 (©) 1798 (D) 1778

Which commissions report defined sustainable development?
(A)  Kothari commission B) Brundtland Commission
© Mandal Commission (D)  None of these

What is the full form of EAS?
(A)  Employment Ability scheme B) Education Area scheme
(C)  Employment Assurance scheme (D)  English Arithmetic Subjects

Who gave the concept of deconstruction?
(A) M. Foucalt (B) J. Derrida © A.Giddens (D) G. Ritzer

Sanskritization given by Srinivas is a kind of
(A)  Social control (B)  Social authority
© Social ability (D)  Social mobility

Who is the author of ‘The Philosophy of money’?
(A)  Georg Simmel (B) Max Weber
(C) A.Baldwin (D)  Randall Collins

Which feminist theory highlights gender inequality?
(A)  Cultural feminism (B) Radical Feminism
©) Liberal Feminism (D)  Socialist Feminism

Who authored ‘Deschooling Society’?
(A)  Bowles and Gintis (B)  Louis Althusser
(C) H.H.Hyman (D)  Ivan Illich

Which of the following is not a functional pre- requisite given by Parsons?
(A)  Adaptation B) Goal Conflict
© Integration (D)  Pattern Maintenance

Who gave a pessimistic view of the family in an industrial society?
(A)  Talcott Parsons (B) Edmund Leach
© George P. Murdock (D)  Vogel and Bell



31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42,

Which of the following is not a type of suicide?
(A)  Egoistic Suicide (B)  Altruistic Suicide
© Psychiatric Suicide (D)  Anomic Suicide

‘Involuntary Resettlement’ is related to construction of ----------------
(A)  Roads (B)  Buildings (C) Dams (D)  Houses

Who was the one who used the term ‘Post — Industrial Society’?
(A) Daniel Bell (B) Vilfred Pareto (C) Karl Marx (D)  Max Weber

Which article of Indian Constitution provides for protection of Environment?
(A)  Article 13 (B) Article48B (C)  Atrticle 15(1) (D)  Article 16(4)

Juvenile Delinquency refers to the criminal acts of ----------------
(A)  Elderly (B) Women © Children (D)  Transgenders

Who is the author of ‘The Functions of Social Conflict’?
(A)  Paul Colomy (B)  Auguste Comte
(C)  Randall Collins (D)  Lewis Coser

Breaching Experiment is a term used in ----------------
(A)  Ethnomethodology (B)  Symbolic Interactionism
(C)  Post- Modernism (D)  Systems Theory

Role Distance is a term given by --------
(A)  Garfinkel ~ (B) E.Goffman (C) E.Durkheim (D) G.H.Mead

Which of the following is a parametric test?
(A) R-Test B) C- Test © G-test (D)  F-test

Which is not a practice of sustainable development?
(A)  Use of solar energy (B)  Use of thermal energy
(C)  Use of hydro electric energy (D)  Use of wind energy

The National Population Policy (NPP) came out in the year
(A) 1999 B) 1991 (©) 2002 (D) 2000

Which state has the largest number of Slum Enumeration Blocks (SEBs)
(A)  Maharashtra B) Uttar Pradesh
© Karnataka (D)  Gujarat



43.

44.

45.

46.

47.

48.

49.

50.

Which of the following is a quantitative method of collecting data?
(A)  Case Study B) Oral history
(C)  Interview schedule (D)  Ethnography

Which is not a feature of a rural society?
(A)  Rigid caste system B) Nuclear family
© Village exogamy (D)  All of these

Who of the following is a dependency theorist?
(A)  Daniel Lerner B) Gunnar Myrdal
(C)  A.GFrank (D)  N.J. Smelser

Which of the following is not a principle of Globalization?
(A)  Free market B) Privatization
© Economic Barriers (D)  Sustained Economic Growth

World Environment Day is celebrated on ------
(A) 4" June (B) 5"March  (C) 24" September (D) 5" June

What kind of economy is present in India?
(A)  Capitalist (B)  Socialist (C) Mixed (D) Global

Who gave the Five stages of growth in Economic development?

(A)  Gunnar Myrdal (B)  W. W. Rostow
(C)  Adam Smith (D)  Samir Amin
When is International Women’s Day celebrated?

(A) 9" June (B)  19™ December
(C) 15" April (D) 8™ March

X-X-X
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Women's Studies(Ph.D.)

. Which one of the following is credited with having started the ‘Congress Radio’ an

underground radio station during the freedom movement?
A) Tara Ali Baig B) Usha Mehta C) Sarojini Naidu D) Annie Besant

‘Turner’s Syndrome is:
A) A condition that affects only females, when one of the X chromosomes is missing
or partially missing
B) A condition that affects only males, when the Y Chromosome is missing
C) A condition that can affect anyone, when they have three x chromosomes
D) A condition that makes a person who has it, think that he or she is from the
opposite gender

. Which one of the following is incorrectly matched?

A) Margaret Atwood - A Handmaid’s Tale
B) Roxanne Gay - Bad Feminist
C) Susan Faludi - Stiffed
D) Audre Lorde - Insider Outsider
. Match the following thinkers with the stream of feminism:
List A List B
a. Nancy Chodorow 1. Feminist psychoanalysis
b. Bell Hooks ii. Black feminism
c. Charlotte Perkins Gilman 1ii. Cultural feminism
d. Helene Cixous iv. Post structural feminism
A) a-iv, b-iii, c-ii,d-i B) a-i, b-ii, c-iii, d-iv
C) a-ii, b-iii,c-iv, d-i D) a-i, b-iii, c-ii, d-iv

. Which one of the following wrote about rape that it "is nothing more or less than a

conscious process of intimidation by which all men keep all women in a state of fear."

A) Susan Brownmiller B) Shulamith Firestone
C) Catherine Mackinnon D) Susan Faludi
. Match the books with their authors:
List I List IT

a. A Cyborg Manifesto 1. Lindsey German

b. Theories of Patriarchy il. Donna Haraway

c. Beyond God the Father 1ii. Andrea Dworkin

d. Women Hating 1v. Mary Daly
A) a-ii, b- iii, c-iv, d-i B) a-iv, b- iii, c-ii, d-i
C) a-ii, b-i, c-iv, d-ii D) a-iii, b-ii, c-i, d-iv

. Who said this, “Just as the end goal of socialist revolution was not only the elimination of
the economic class privilege but of the economic class distinction itself, so the end goal
of feminist revolution must be... not just the elimination of male privilege but of the sex
distinction itself: genital differences between human beings would no longer matter
culturally.”

A) Simone de Beauvoir B) Shulamith Firestone

C) Kate Millett D) Juliet Mitchell



10.

11.

12.

13.

14.

Georgia in USA recently passed a law making abortion illegal after weeks of
conception:
A) Six B) Eight C) Ten D) Sixteen

Which one of the following programmes does not focus on education of girl child?
A) Mahila Samakhya Programme
B) Rashtriya Madhyamik Shiksha Abhiyan
C) Sarva Shiksha Abhiyan
D) Indira Gandhi Swarnjyanti Yojana

Match the Following Programmes/ Policies/Acts with the year in which they were
launched:

List I List IT
a. National Policy for Empowerment of Women 1. 2010
b. National Mission for Empowerment of Women 1l. 2009
c. Right to Education Act iii. 2001
d. National Skill Development Mission iv. 2015
A) a-iii, b-i, c-ii, d-iv B) a-i, b-ii, c-iii, d-iv
C) a-ii, b-iii, c-iv, d-i D) a-iv,b-iii,c-ii,d-1

The first woman to receive the Nobel Prize in Physics in 1903 was:
A) Isabelle Stone B) Chika Kuroda  C) Marie Curie D) Emmy Noether

Ada Lovelace was:

A) One of the first computer programmers and the first to recognize that Charles
Babbage’s analytical engine had applications beyond pure calculation

B) Invented a dynamic engine which later was used for jet aircraft

C) Was a simple housewife who became famous because of her connection with
Charles Babbage

D) Was a revolutionary feminist who stood for women’s voting rights in the early
years of the twentieth century

Which of the following are barriers to career advancement for women:
a) Sticky floors b) Glass ceiling
¢) Gender stereotyping d) Flexible working conditions
A) a,c,&d B) Only b C)a,b,&c D) All of these
Arrange the following states in terms of Female Work Participation Rate from highest to
lowest:
a) Himachal Pradesh
b) Nagaland
c¢) Sikkim
d) Manipur

A) a,b,c,d B)d,c,b,a C)a,c,b,d D) a,d,c,b



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

Which one of the following is not a component of Gender Empowerment measure?
A) Estimates of women's relative income
B) Participation in high-paying positions with economic power
C) Access to professional and parliamentary positions
D) Sex ratio and life expectancy

India’s first all woman bank is known as:
A) Rashtriya Mahila Kosh B) Bharatiya Mahila Bank
C) Hindustani Mahila Bank D) State Bank for Women
Which one of the following was one of the founder members of Confederation of Indian
Entrepreneurs(COWE)?
A) Smt. Shylaja Reddy B) Smt. Chanda Kochar
C) Mrs. Shahnaz Husain D) Mrs. Dorothy Jinardasa
One Billion Rising is:

A) A movement to end violence against women

B) A movement to ensure women rise high in leadership positions
C) A movement to ensure women’s participation in decision-making
D) A movement to counter women’s liberation

Goal 5 of the Sustainable Development Goals deals with:
A) End poverty in all its forms

B) End hunger, achieve food security, and improved nutrition and promote

sustainable agriculture
C) Ensure healthy lives and promote the well-being of all at all ages
D) Achieve gender equality and empower all women and girls

GAD approach was influenced by:

A) Liberal feminism B) Radical feminism

C) Socialist feminism D) Post-modern feminism
Human Development Index (HDI) was developed by and first used in
the year by UNDP

A) Mahbub-ul-Haq, 1990 B) Ban-ji-Moon, 1990

C) Eleanor Roosevelt, 1946 D) Barack Obama, 2012
The number of women elected to the Lok Sabha in 2019 is:

A) 62 B) 68 C) 75 D) 78
A Woman’s Component Plan was adopted in the:

A) 6" five year Plan B) 8" Five Year Plan

C) 9™ Five Year Plan D) 12" Five Year Plan

Name the woman who first unfurled the flag of Indian freedom in 1907 in Stuttgart:
A) Kamla Nehru B) Bikaji Cama C) Aruna Asaf Ali D) Sarojini Naidu



25. Aggravated sexual assault under the POCSO Act is when:

A) The abused child is mentally ill or when the abuse is committed by a person in a
position of trust or authority vis-a-vis the child, like a family member, police
officer, teacher, or doctor

B) All sexual assault under POCSO is regarded as aggravated sexual assault

C) POCSO does not refer to aggravated sexual assault

D) Only when the abused child becomes pregnant after sexual assault or dies due to
sexual assault

26. The programme launched in 2014 by the Government of India to eradicate open
defecation among other things is known as:

A) Total Sanitation Campaign B) Nirmal Bharat Abhiyan

C) Swachh Gram Abhiyan D) Swachh Bharat Abhiyan

27. The Maternity Benefits Act as amended in 2017 allows maternity leave upto:
A) 12 weeks B) 16 weeks C) 22 weeks D) 26 weeks

28. Which among the following is the method of sterilization used for males?
A) Depo-Provera B) IUD C) Vasectomy D) Tubectomy

29. Census 2011 identifies 262 districts across India as Gender Critical Districts. Of these
how many are in Punjab?

A) 18 B) 16 O 14 D) 12
30. Fear/hatred of sexual minorities is known as:

A) Homophobia B) Monophobia C) Sexophobia D) Claustrophobia
31. Which of the following pairs is incorrectly matched?

A) First woman judge of the Supreme Court - Fatima Beevi

B) First woman Defence Minister - Nirmala Sitharaman

C) First woman Governor - Aruna Asaf Ali

D) First Woman Railway Minister - Mamata Bannerjee

32. Match the following:

List I List IT
a. Article 15(3) 1. Prohibits traffic in human beings and beggar
b. Article 16 il. Equality of opportunity
c. Article 23 1il. Equal pay for equal work
d. Article 39(d) iv. State can make special provisions for women
A) a-iv,b-ii,c-i,d-iii B) a-i,b-ii,c-iv,d-iii
C) a-i,b-ii,c-iii,d-iv D) a-iv,b-i,c-ii,d-iii

33. Which of the following UN Security Council Resolutions recognizes the importance of
women in the prevention and resolution of conflicts:
A) 1010 B) 1325 C) 1527 D) 1698



34. Which of the following rights is not included in the Universal Declaration of Human
Rights?
A) Prohibition of slavery and slave trade
B) No one shall be subjected to arbitrary interference with his privacy, family, home
or correspondence
C) Right to marry and found a family
D) Right to reproductive choices including abortion

35. Which General Recommendation of the CEDAW Committee first focused upon violence
against women as a violation of women’s human rights:

A) 15 B) 19 C) 23 D) 27
36. Which one of the following put forth the concept of feminist environmentalism:
A) Bina Agarwal B) Vandana Shiva
C) Arundhati Roy D) Srilatha Batliwala
37. The elements trilogy- Fire, Earth and Water was produced by:
A) Kalpana Lajmi B) Gurinder Chadha
C) Deepa Mehta D) Mira Nair

38. Which Act prohibits indecent representation of women through advertisements or in
publications, writings, paintings, figures?
A) The Indecent Representation of Women (Prohibition) Act, 1986
B) Representation of women in Media Act, 1979
C) Prohibition of Pronography and Indecent Represention of Women, 1986
D) Suppression of Indecent Representation of Women in Media Act, 1991

39. Which of the following statements is not true with regard to feminist research?
A) It is interdisciplinary and begins from the standpoint of women
B) Itis grounded in feminist values and beliefs
C) It documents women’s experiences, concerns and issues
D) It is quantitative and absolutely value free

40. Which of the following is a method of data collection:
A) Random sampling B) Experimental research design
C) Focus group discussion D) Feminist standpoint

41. A question composed of more than two separate issues or topics, but which can only
have one answer is known as:
A) Double barreled question B) Twin question
C) Irregular question D) Double dimension question

42. When a sample is selected in various stages, but only the last stage sample is studied, it is
known as:
A) Selective sampling B) Multi-stage sampling
C) Multi-random sampling D) Snowball sampling



43. The term ‘chilly climate’ implies:
A) Very cold temperatures in a region
B) Boycotting and cold behavior towards a person in the workplace or in the private
sphere
C) Subtle sexist environment towards females
D) Equal and positive treatment of all genders

44. India’s HDI rank in 2017 was:
A) 125 B) 130 C) 135 D) 140

45. Which one of the following is a characteristic of formal equality:
A) Treats men and women as same
B) Equality of results
C) Recognizes differences among groups
D) All of these

46. Which convention is regarded as the first women’s rights convention and when was it
organized?
A) Vienna Convention, 1993 B) CEDAW, 1979
C) Seneca Falls Convention, 1848 D) Niagara Falls Convention, 1848

47. ‘Istri Purush Tulana’ was written by:
A) Rokeya Sakhawat Husain B) Sarla Devi Chaudharani
C) Chandra Kanta D) Tara Bai Shinde

48. Which one of the following said, “You can tell the condition of a nation by looking at the
status of its women™?
A) Pt. Jawaharlal Nehru B) Dr. B.R. Ambedkar
C) Mahatma Gandhi D) Indira Gandhi

49. Which one of the following ancient Indian texts have the quote, ‘Dhol, ganwar, shudra,
pashu, nari, yeh sab tadan ke adhikari’?

A) Manusmriti  B) Mahabharat C) Ramcharitmanas D) Arthsastra

50. Which one of the following is a post-structural feminist?
A) Luce Irigaray B) Nancy Chodorow C) Nancy Hartsock D) Susan Faludi

X-X-X



